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Physics @ Seetion-A (Q. No. 001 to 035)

[N ]

, G), 66?“ CJ 1 i .
: 'I‘hé amount of energy required to form a soap bubble

If the galvanometer does not show any
deflection in the cireuit shown, the value of R is
given by :

100 Q)

+
10 v—1 R

(1) 1000

() 4000 1
3) 2000 4 500

stress at any

sectional area 4 of the wire is :
(1) w/24 (2) Zero

) 2w/4 4) w4 4

The w

ork functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14ev, 230 eV and
275evV respectively. If incident clectromagnetic
radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?
(1) K only (2) Na only
(3) Cs only (4) Both Na and K

The venturi-meter works on :

(1) The principle of parille] axes _
(2) The principle of perpendicular axes
(3) Huygen’s principle

(4) Bernoulli’s principle 4

The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 8U (2) 16U

() 2U ORI

The temperature of a gas js -50° C. To what
temperature the gas should be !walcd so that the
rms speed is increased by 3 times? _
(1) 3097 K (2) 223 K 4
(4) ‘32‘{5°‘{_':

A

o)

of radius 2 cm from a soap solution is nearly :
(surface tension of soap solution = 0.03 N n-f)
(1) 3.01x1074) () so.lxmjj

(3) 30.16x107%)  (4) 5.06x10) 1
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(1) 1.6x107'T

g e o b8

The ratio of radius of gyration of a solid sphere
of mass M and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same mass and radius about its axis is :

(1) 2:5 (2) 5:2
@) 3:5 (@) 5:3 BONUS

A bullet is fired from a gun at the speed of
280 ms~! in the direction 30° -above the
horizontal. The maximum height attained by the

bullet is (g =9.8ms2, sin30°= 0.5) :

(1) 1000 m (2) 3000 m 1
(3) 2800 m (4) 2000 m

In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and
amplitude 48Vm~!. Then the amplitude of

oscillating magnetic field is : (Speed of light in

free space = 3 x 108 m S“')
) 1.6x107°T -
(3) 1.6x107°T 4) 1.6x1078T

The net magnetic flux through any closed surface
is :

(1) Infinity (2) Negative

(3) Zero (4) Positive

A Carnot engine has an efficiency of 50% when
its source is at a temperature 327° C. The
temperature of the sink is :

(1) 100°C (2) 200°C

@) 27°C 4) 15°C

A full wave rectifier circuit consists of two p-n
junction diodes, a centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?

(1) Capacitor

(2) Load resistance 1

(3) A centre-tapped transformer

(4) p-n junction diodes

The equivalent capacitance of the system shown
in the following circuit is :
3pF
| |
!

-

3uF

[

3pF 3
(1) 6pF (2) 9pF
(3) 2pF (4) 3pF
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qur R B % us S i @ e Ad
ol B qon @ gemE @ B &
e &1 3E a1 % afea: goid et &

1

) R (2) 5:2
3) 3

5
+ 5 (4) 5:3

g o2

¥ wp el AR & 300 @ feam &
W;ﬁﬂtmOms—‘aﬁmﬁaﬂﬁmﬁ%l
el & qg @ g st Sard ¥

(g =9.8ms2, sin30°= 0.5) :

(1) 1000 m (2) 3000 m
(3) 2800 m (4) 2000 m

e FHAW SEAgADT TOT G STehieT F et B T
¥ 1afy faga & 48 V! emam @ur 2.0x10'%Hz
Tgfa T SATEH & SIET S Hial §1q9 gasid
&5 & Sroe & oW ¢ (Frata & et &t g
=3x 108 ms) :

(1) 1.6x107'T  (2) 1.6x107°T

(3) 1.6x107°T (4) 1.6x107%T
gﬁﬁaﬁwﬁgmﬁww&vﬁfﬁmm
(15 ard _
3) @
FHTAl 9 Bl e 50% ¥ E 396 WA B ATIHE
327° C | @M &1 Qe & —

(1) 100° C (2) 200°C

(3) 27°C 4) 15°C

s quia{ feesrll afay % €1 p-n @f =@E,
e R ZEGHY, G aU T e 9"
13T q @ | s Reaia fria § wemadt
sgen () faga ot # .

(2) =D
(4) = THS

(1) - dufe

(2) s ufady

(3) ws " Framll st

(4) p-n ©fy SR ;

Pt wfwer ¥ weita Prem @ gea aifr & -
3uF

3pF H

Y — S
|
3pnF

(1) 6 pF, (2) 9puF

(3) 2uF (4) 3uF
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(3) Red

(98] ;
In a series LCR circuit, the indu clance L is
10 mH, capacitance C is 1 pF IIIK; e}smtance R
is 100Q. The frequency at whlfh yresonance
occurs is :
(1) 1.59 rad/s )
(3) 15.9 rad/s )

1.59 k}-i}':]
15.9 kHz
o 2

If gﬁE dS=0 over a surface, then :
0
(1) all the charges must necessarilyi be inside
the surface. - {
(2) the electric field inside the_surface is
necessarily uniform.
(3) the number of flux lines enlermg , the surface

must be equal to the number“of' flux lines

leaving 'it.

(4) the magnitude of electric feld on the
surface is constant.

.
{_ﬁ. S

An electric dipole is placed at an" ang!e of 30°
with an electric field of intensity , 2>c105N ol

It experiences a torque equal to 4 NI‘I’I Calculate
the magnitude of charge on the d]po]e if the
dipole length is 2 cm.
(1) 4mC

(3) 8mC

(2) 2mC ‘L\H
(4) 6 mC

A football player is moving sodthward and
suddenly turns eastward with the sanié speed to
avoid an opponent. The force thaf.aéts on the

player while turning is : fsd
(1) along north-east )
(2) along south-west -
(3) along eastward (,;% .

(4) along northward

The magnetic energy stored in an-inductor of
inductance 4 pH carrying a current/df 2 A is :
(1) 8mJ (2) 8uJ !le‘
(3) 4l @ 4my

_ o
Resistance of a carbon resistor detggﬁined from
colour codes is (22000 +5%) Q. THe colour of

third band must be :
(1) Orange (2) Yellow

(4) Green
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v LCR ufeqe & dwae (L) 10 mH, nf
(C) | uF aar wkrdy (R) 1000 %1 o T
Y @ Rafy ¥ amgfa &
(1) 1.59 rad/s (2)
(3) 15.9 rad/s (4)

1.59 kHz
15.9 kHz

o 7 g% & fg £ -dS=0 ¥ T

) H%ﬁanﬁst,qz%aﬁfﬁ%mm%l

(2) 9B & oTeX QHEHAT AT 4 GEE F

(3) Y= A wdgr e ATl Ferwd tana 9 de 39
Eliiad]

(4) g% 9T dga &= F 9T frg ¥

us ga faga & 2x10°NC dwan % uw dgm
&5 % @rg 30° % BT 9T 1@ T ¥ 3G 9T @
T gw omgel 4 N m ¥ afy faya & @ 2 em
? d fayg o sy B

(1) 4mC (2) 2mC

3) 8mC (4) 6 mC

T Geaia &1 Rawre! afav feam @ @it 92 wr 3
ST Fordieh & = % forg e @9 OTa @ gea
a?raﬂ'tgsm%lﬂmé’rqtmramwma’m
2, 2
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(2) - feqor—afyes & @it

() 4E @ &k

(4) s @ @i

4 pH m%mquwmﬁm%mﬁ
Hiea gadig vt -
(1) 8mJ

(3) 4

2) 8py’
(4) 4m)

wmﬁ%qumwmﬂmuﬁrﬂa
(22000 5%) © &1 AW A7 o T 91y
(1) = (2) dm

3) v 4 za
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Light travels a distance x in time #; in air and

10x in time 75 in another denser medium. What
is the critical angle for this medium?

For Young’s double slit experiment, two

statements are given below:

Statement I : If screen is moved away from the

plane of slits, angular separation of the fringes

remains constant,

Statement II : If the monochromatic source is

replaced by another monochromatic source of

larger wavelength, the angular separation of

fringes decreases.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement 1I is
false.

(2) Statement I is false but Statement II is
true.

(3) Both Statement I and Statement II are
true.

(4) Both Statement I and Statement II are .

false.

The half life of a radioactive substance is
20 minutes. In how much time, the activity of

1\h Gt g
substance drops to [ﬁ) of its initial value?

(1) 60 minutes (2) 80 minutes
(3) 20 minutes (4) 40 minutes )

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are

(1) Least count errors

(2) Random errors 2

 (3) Instrumental errors

(4) Personal errors

The angular acceleration of a body, moving along
the circumference of a circle, is ;

(1) along the tangent to its position

(2) along the axis of rotation

(3) along the radius, away from centre 2

(4) along the radius towards the centre
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An ac source is connected to a capacitor C. Due
to decrease in its operating frequency :
(1) displacement current decreases.

() capacitive reactance remains constant
o )

() capacitive reactance decreases,

() displacement current increases. 1

The ratio of tfrequencies of fundamental
harmonic produced by an open pipe to that of
closed pipe having the same length is : '
(1 1: 2 3:1 4

3) 1:2 @) 2:1

!l'l hydrogen Spectrum, the shortest wavelength
In the Balmer series is 3. The shortest
wavelength in the Bracket series is -

(1) 9a (2) 164

3) 2a 4) 4

Given below are two statements:

Statement I ; Photovoltaic devices can convert
optical radiation into electricity.

Statement II : Zener diode is designed to operate
under reverse bias in breakdown region.

In the light of the above statements, choose the

most appropriate answer from the options given

below : -

(1) Statement I is correct but Statement IT is
incorrect. - -

(2) Statement I is incorrect but Statement IT
is correct.

(3) Both Statement I and Statement II are

correct. . :

(4) Both Statement I and Statement II are

incorrect.

The magnitude and direction of the current in
the following circuit is

A —Amn—] F—A"A— B
E
D VAV C
70 ;
2 . h E
(1) 9 A from A to B throug 4
(2) 1.5 A from B to A through £

‘(3) 0.2 A from B to A through E

(4) 0.5 A from A4 to B through E
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Two bodies of mass m and 9m are placed at a
distance R. The gravitational potential on the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational
constant) :

16 Gm 20Gm
o -—= @ =

8Gm 12Gm
@) -=2" @ -3

A metal wire has mass (0.4+0.002) g, radius
(03£0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1) 1.6% (2) 1.4%

3) 12% 4) 1.3%

A vehicle travels half the distaﬁce with speed

® and the remaining distance with speed 29 .
Its average speed is:

- @ 3
3 = H =
® 3 @5

A 12V, 60 W lamp is connected to the secondary
of a step down transformer, whose primary is
connected to ac mains of 220 V. Assuming the
transformer to be ideal, what is the current in
the primary winding?
(1) 3.7A.

(3) 027A

(2) 037A .
4) 27A

The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of ¥ volts is proportional to:

1
0 7 2 v?
G3) (4) -pl,-
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Physics ; Scction-I3 (Q. No. 036 to 050)

36

The m:‘aismncc of platinum wire at 0°C js 20
n:}d 6.8Q at §0e¢, e temperature coefTicient
0 rcsnst:mc‘c of the wire is !

&) 10~ e (2) 3x107! oc-1

(3} 3’“0“1 ‘)C"l (4) 3)"0__3 OC__l 1

An electric dipole is placed as shown in the figure.

5 em ;
o ———FP

.\1\—. ™
—-q
The 2~ 3om >4
e EIe‘fmc Potential (in 102 V) at point P due
‘0 the dipole js (€p=permittivity of free space

1 <k
4:1&0 .

) [—g—JqK @ [ngK 3
® [%J“K ) @)qx

For the following logic circuit, the truth table js:
A

and

¥
B

~
ot
o

@)

w
~

4)

A
0
0
1
1
A
0
0
1

'-‘—"—'ch-q—'ooow

—
—

A very long conducting wire is bent in a semi-
circular shape from A4 to B as shown in figure.
The magnetic field at point P for steady current
configuration is given by :
i—

> A

R
P

———- e B
/ 2
%[l ”;] pointed away from page

IJ[]I _E : 1 ¥,
Tﬁ[] nJ pointed into the page 1

Bof
AR
ol
4R

pointed into the page

pointed away from the page

4)
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" (1) 15ms?2

(3) 10 “4)

Two thin lenses are of same focal lengths (/).
but one is convex and the other one is concave.
When they are placed in contact with each other,
the equivalent focal length of the combination
will be:

m /2 (2) Infinite 2
(3) Zero @ f/4
The radius of inner most orbit of hydrogen atom

is 53%10°" m. What is the radius of third
allowed orbit of hydrogen atom?

@ 1771
G) 0534 @

Calculate the maximum acceleration of a moving
car so that a body lying on the floor of the car
remains stationarv. The coefficient of static
friction between the body and the floor is 0.15
(2=10ms32).

(1) 150

1.06 A

(2) 0ms™ 1
() 12ms? ) 150ms™

A satellite is orbiting just above the surface of
the earth with period 7. If 4 is the density of the
earth and G is the universal constant of

3=

gravitation, the quantity % represents :

a 7 @ T
k) T @ 72

The net impedance of circuit (as shown in figure)
will be :

(1) 550 (2) 250
(3) 10420 @) 150

10 resistors, each of resistance R are connected
in series to a battery of emf £ and negligible
internal resistance. Then those are connected in
parallel to the same battery, the current is
increased n times. The value of » is :

(1 1 (2) 1000

100 4
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Qﬁmm’umﬁﬂmme rﬁ@
Mammﬁmiiﬂaa@mquw
W E, § g9 @1 g9 wied gl w6l -

M 52 (2) =a

G) = @) 14

TEEET AN B G949 Jite a@ @l e
53%x107"! m 1 EEEeE wEe @1 dd SgEiad
THI B AT T 6 ¢

(M 1359 ) smA

3) os3 & 105

@'ﬂ“ﬁqﬁmaaﬁmmﬂﬁﬁ@rﬁqaﬁs
BN 3 E U Y61 T3 95 9 &9 1 95 a0
wy @ S @1 d@fos =€w s 0.15 2
(g=10ms)I

(1) 15ms> (2) 30ms>=

G) 12ms? (€))

g 99UE 7 SEas & 99 Y& a9 B o6 S
@l TE H W o9 W@ e 9% ORI @ gha d

150ms™

T G TENS (SIS MRS 6, O T

Gd
R et
m 7 @ T
G) T @ 1°

wiy (G T faw § walkia §) @ s wiasm
T :

s ey

Dl

;: uF

O,

220 V, 30 Hz
M) 550 Q) 250
3) 102 Q ) 13Q

TE §HH gfate R & 10 wiade a1 £ faga aws
T T ATV IS WY B 0 0 S Gy
o w9 ¥ W31 ¥ 99 3R §WE $A F 9y
mmqmm% CRRETR iR 8o
NEAA T

(N 1 Q)
3) 10 €))

1000
100 -
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N}‘ I;“""-“l“iﬂ Dridge is built across a river, A
student standing on the bridge throws a small

ball vertically upwands with o veloeity d m s~

ll hj-‘ ball sl}‘:kos the water surfnce aller 4s, The
weight of bridge above water surface is

(Take 2= 10m s‘z) .
(2) 68m

(1) 64m
() S6m (4) 60m

}u lh;: tigure shown here, what is the cquivalent
oca length of the combination of lenses
(Assume that all layers are thin)?

m=15
pee =R = Ry=20cm
F--o\Ry J===t
._.’_:_ _Rz__: 1
ny=16—
(1) =100 cm (2) —50cm
(3) 40 cm (4) —40 cm

A wire carrying a current [ along the positive
x-axis has length L. It is kept in a magnetic field
—* A A A

B=(2i+3j—4k) T. The magnitude of the
magnetic force acting on the wire is :

(1) 5IL @) B

(3) 3IL 4) s

The x-t graph of a particle performing simple
harmonic motion is shown in the figure. The
acceleration of the particle at =2 s is :

1=~
x (m) Ok:\rt £ 20,
_1,._____.¥._:_/
2
; 2
1) Tnz—ms'z () -.’%ms-z
2
3) —7;-:—1115“2 @) -Z-ms?

A bullet from a gun is fired on a rectangular
wooden block with velocity ». When bullet
travels 24 cm through the block along its length

horizontally, velocity of bullet becomes % Then

it further penetrates into the block in the same
direction before coming 1o rest exactly at the
other end of the block. The total length of the
block is :

(1) 28 cm
(3) 27 cm

(2) 30 cm
(4) 24em 3

H6_Hindi+English |

10

46

47

48

49

50

."1’2=1.6

(1) —100 cm

(3) 40 cm & 5
£, e % T T ¥ ] 8T -3 D SIS
%mg&arwr%aﬁfﬁ%'sﬁwwéﬂ
B = (243 —ak) T ¥ T S &1 AT I DR
gmﬁummwﬁmﬂ%: ;

() 5IL @) BIL

@) 3IL @ 5iL

@ omad TR B §U U BT DB x- U T
gotfar T ¥ £ =2 ¥bS T BT H AT § -

( . I(SL_
2 8 -
2 2
T 2 =
(1 Tems ) _%msfz
2
TC -2 2

IqE B 0 e T 0 o tn;:
aﬂﬁmm%'m‘“ﬁﬁ?&?ﬂféﬁmﬁﬁu

cm{{ﬂﬁlﬁ?%,*ﬁfvﬁﬂéﬂ%am%ia@tﬂgﬂ‘“ 4

T A O T Y faom i

T el B W B B gl T
() 28 cmﬂm}ﬁ Q}(?;} 302 L

(3) 27 em (4) 24 ::::]r:
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Chemistry : Section-A (Q. No. 051 to 085) |

51  Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1" position of sugar is known as

nucleoside
Statement II : When nucleoside is linked to

phosphorous acid at 5 '-position of sugar moiety,
I we get nucleotide.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is true but Statement IT is false.
(2; Statement I is false but Statement IT is true.
(3) Both Statement I and Statement II are true.
(4) Both Statement I and Statement IT are false.

52  The conductivity of centimolar solution of KCI
at 25°C is 0.0210 ohm~! cm~1"and the resistance
of the cell containing the solution at 25°C is

1 60 ohm, The value of cell constant is -
() 1.26 cm™! 2) 334 cm™l
(3) 1.34 cm™! (4) 3.28 cm™!

53 The correct order of energies of molecular

orbitals of N, molecule, is :

(1) ols<o'Is<o2s<c’ 2s<o2p, <

c" 2p, <(1‘t2px =n ?.py)c(:t‘pr =1tf2p),)

3 (2)'o-ls<cr*ls<c2s<0'2s<(rﬁ2px=ﬂ:2py)<
(7:' 2p, =7:'2p},)4 c2p,< o 2p,
€)) cls<o'Is<o2s<c” 25~<(:rc2px =n2py)4
c2p, 4(1":"2]3x =n*2py)~:c‘ 2p,
(@) ols<c”Is<c2s<o” 2s<o2p, <
(aw:2px =7 2;@)4(::1:"213x =1 2py)<c' 2p,

54  The number of ¢ bonds,  bonds and lone pair
of electrons in pyridine, respectively are :
(1) 11,3, 1 (2; 12,2,1

1 (33 11,2, 0 4) 12,3.0

55 The element expected to form largest ion to
achieve the nearest noble gas configuration is :
1 (1) N g Na
3) O 4) F
56  Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R : . )
Assertion A : Helium is used to dilute oxygen
in diving apparatus. . L
]  Reasons R : Helium has high solubility in O,.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.
(2) A is false but R is true. )
(3) Both A and R are true and R is the correct
explanation of A. .
" (4) Both A and R are true and R is NOT the

correct explanation of A.
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Fre & e fog o ¥
T 1 : Rpe ares % s o 11 Rafr wT g &
fififar goré @1 fesirarss wed ¥

T 11 : v gRFeiaEs g st & 5" fafa

_ %me‘%mwméw%?ﬁﬁfqﬁmﬂmgw

|
ST Ru T wesl & e g A fg g e
¥ ¥ wf s gimal

(1) wm 19d ¥ aig &9 H Ed 3

(2) ®um 1 ord ¥ ulg wuA I 69 2

(3) =@ I X w4 11 4 8 2|

(4) a1 oMR 4w I &1 o €
25°C gt KCl & ¥emiex fawgs & amesdd
0.0210 ohm~! em™! & &fx 25°C WX e =t
Fe o IRy 60 ohm ¥ e Rerxiss &1 A ¥
(1) 1.26 cm! (2) 3.34 cm™!

(3) 134cm! - (4) 328 cm’!

N, ot 3 g onfes wmet o Sitell BT @l FH 8

(1) ols<c”1s<o2s<0” 2s<02p, <
o 2p, <(n2px =n 2py)~<(n’2px =ﬁ‘2py) i
@) cls<c’Is<c2s<c’ 25<(n’2px =1'I:2p),){
(R*pr = n*2py)4cr2pz <c"2p,
3) cls<cl* IS%GZS{G*ZS{(‘.{szX =Tc2py)¢
c2p, 4(1:' 2p, = rr*2py) <o 2p,
(4) ols<c'ls<o2s<0 25<G2p, <
(anx =1T2p},) ~<('.rr"2px = r:*2p),)<.o-* 2p,
Rfed #, o omesl, n omEHl o s %

T el B HEEW HE, §

1 11,3, 1 ) 12,21

(3) 11,2,0 (4) 12,3,0

.98 @ W oA Peead sge T faEm ww
F % Mg ey oifts o1 ST S,

(1) N (2) Na

3) O 4) F

A & By Ru T ¥ uw B ‘Afima A ol g8
‘@ R’ fafea fean )

afEE A Ma@l & Susen W difwad @t

(2) A @™ ¥ qig R 99 ¥

(3) A o R 6 & ol R, A %1 Gel e &

4) %@Rﬁm%,W&Aaﬁaﬁm
.
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57

Complete the following reaction :

OO
(A]

[B]
[C] is

conc. H,SO,
A

(N Q—CHO

() O—COOH

3) Qoﬁ

) QCOOH

Consider the following reaction and identify the
product (P).

—[C]

CH, - CH-CH-CH,
P )
CH; OH

3 — Methylbutan—2 -ol

—HBr 5 product (P)

~CH-CH-CH,4
|
CH; Br

(1) CH,

CH, 3
|
(2) CH, —?—CHZ Br

CH,
Br

I

_(!:-CHE—CH3

(3) CH;
CH,

(4) CH;CH=CH-CH,

H6_Hindi+English |
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arfufedt .
Pt OH
0 __HCN CN
]
[A] &
a7, HyS0,
=2l
[C]1% -

CHO

Q— COOH
0O

ﬁwﬁrﬁgﬁmﬁqﬁmwwzﬁﬁqaﬂ?mﬂ

& g

' CH,-CH-CH-CH,

bl
CH, OH -

3 — w2 —
m CH3—(JSH—CH—CH3

l
CH; Br

b
(2) CH, ~(|I—CH2 Br

CH,

Br
I

3) CH;-C-
() cHy 5: CH, - CH,

CHJ

(4) CHyCH=CH-cy
3

Br

sarE (P)
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Which amongst the tollowing options is correet

-: so
3 graphical representation of Bovle's Law?
1 ~
T ST
'.' P
# (I) ]‘I‘
"- -
I,
N
i
N 4
N \"l V.
7
P
2
Vi<Vp<V;
Y
7
T—
; AN
¢ T a1y,
E
e p
l 3)
I -
i Ty
R
, 3y
¢ V—> 7
f
N I =
1
; P
- (4J I]J-I:‘II
; Y
i | 7
N —
; 60  Taking stability as the fucton, which one of the

i following represents correct relanonship?
| (1) AICI=AICL, () 11> 1
(3) TICI, = TICE  (4) Ialy = 1l 9
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89 Prafuftag o & ada-wn wlaw & P me wh arfta
frrwygu & 7
N
T T Ty,
Il
() 3
T—T,
a— ]
"
' rd
S
Py V| V.
T -
b
(2)
V,<V,<V,
N
Ed
T
AN
T r> Tt
[’
3
'!
1,
Ii\'
V—
i s,
/o
7
/
P _
G //" I,>1,> T,
/4
/"/
S F e, \
N —
o0 iy @ @it Q4 g PATETRS ® 8 W8 wh
HeY @ &t B/
(1) Al = AKYy (23 TU > T
) TIOL = 1K (4 bslg > Bd
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- complexes is :

ldemif_\' the product in the following reaction :

+
. N2
(i) Cu;Bry /HBr

(i) Mg7/dry ether

m-'———_) Product

MeBr OH
TS
4
= Br
OH
G) @ @) @

Homoleptic complex from the following

(1)
)
3)
€9

Pentaarmninecarbonatocoba[t (I1D) chloride
Triamminetriaquachromium (1) chloride
Potassiun_l trioxalatoaluminate (1)

Diamminechloridonitrito - N - platinum (II)

Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include -

A. dipole - dipole forces.

B. dipole - induced dipole forces.

C.  hydrogen bonding.

D. covalent bonding,

E. dispersion forces.

Choose the most appropriate answer from the
options given below -

(1) A.B,C,E are correct.

(2) A,C,D,E are correct.

(3) B,C,D,E are correct.

(4) A, B, C, D are correct.

The stability of Cu2* is more than Cu*
aqueous solution due to -

(1) hydration energy,

(2) second ionisation enthalpy.

(3) first ionisation enthalpy,

(4) enthalpy of atomization,

salts in

H6_Hindi+English |
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61 ﬁqﬁqﬁgacﬁﬁﬁﬁmﬁwﬁqmm
N2Cl

(i) CupBry /HBr

(i) Mg/qrdax e
(iii) Hp0

MgBr O

: H
1) @ 2 @
Br
. OH

ﬁﬁ%ﬁaﬁﬂgﬁffﬁﬂﬁq‘lﬁﬁz&;ﬁwi:

62
€)) «< (11I) =irss
) (1) =i
(3) URfmg zme am
@) m&uﬂqiﬁa’rﬁgﬁqgaa-}l-'ﬂf&ﬂqm}

63 mnmﬁwaammmﬁamwﬁ
Wﬁ?uﬁm&w&s&aﬁﬁ?f%ﬁﬁhﬁ
B ¥ :
A. Toyga - feyg aw
B. feya - 9@ fryg o
C. =Esiom ameye
D. wewrdielr s
E. sy a5
RRREELS ST ——
(1) A, B, C, E ud ¥
(2) A, C, D, E =¥
(3) B, C, D, E w8 ¥
4) A, B,C, Dwh ¥

64 e Rrery § Cu2+ et o e OFF
¥ ot Prefefag % wreor g &
(1) g st
) T s wied
) waw g wied
4

i (4) B gy [Cﬂn’
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Match List - I with List= 1I :

List -1 List - 11

A. Coke I.  Carbon atoms are
sp? hybridised.

B. Diamond II.  Used as a dry
lubricant

C. Fullerene . Used as a
reducing agent

D. Graphite IV. Cage like

i molecules
Choose the correct answer from the options
given below :
(1) A-lIL B-1. C-IV, D-1I
(2) A-IIL, B-1V, C-1, D-1I 1
(3) A-ll, B-1V, C-1, D-lII
(4) A-IV, B-l, C-11, D-11I
Which of the following statements are NOT
correct?
Hydrogen is used to reduce heavy metal

oxides to metals.
Heavy water is used to study reaction

B.
mechanism.

C. Hydrogen is used to make saturated fats
from oils.

D. The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hpydrogen reduces oxides of metals that are

more active than iron.
Choose the most appropriate answer from the
options given below :
(1) D. E only (2) A, B, Conly
(3) B,C.D,Eonly (4) B,Donly
The right option for the mass of CO, produced
by heating 20 g of 20% pure Ilmestone is
(Atomic mass of Ca = 40)

[caco, 120K, a0+ co, |
(1) 264g @ 132g
G) li2g @) 176¢g

Given below are two statements : one is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : In equation A,G=-nFE_, value

of A G depends on n.
Reasons R : E_, is an intensive property and
A.G is an extensive property.

In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct

explanation of A.
(4) Both A and R are true and R is NOT the

correct explanation of A.
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UM -1 a1 - 1 & g frer i

-1 -1
A ol 1. *mh qTry
sp? defra 0y ¥
B, ¥ I g% Ced % ml
¥ audyr fear men ¥)
C. wwlm . emamas @ wifa
. g fgan mar &1

D. A%Ee IV, ferEeEr o

A few o P ¥ A W T P -

(1) A-lI, B-I, C-1V, D-II

(2) A-lll, B-1V, C-lI, D-II

(3) A-ll, B-1V, C-1, D-lII

(4) A-1V, B-I, C-II, D-III

Prafafaa & & $9-8 B9 G 7@ ¥ ?

TIEEIST B SaiT Wil ag siFErgEl & arget

¥ oafaa @ & g feear wmar ¥

AT el &1 sudnT erfufear Brafafa % eraa

% foo foran @ %)

BTESIS BT IUGIT OFll ¥ T il By g

% fog fopan ot %)

feeeh +ff o % < wrAe & 9 OHa A9y

%@gﬂﬁH-Haﬂﬁaﬁﬁlﬁﬂqﬁﬁﬁﬁﬂ

|

E. wEgiom omaer @ eifts feansiier amgedi &
SifFdEel & emfad &Ll ol

A fu g fawel ¥ & waw wugwm s giig -

() ¥aa D, E ~ (2) %ad A, B, C

(3) %a@B,C,D,E (4) %a@ B,D

20% S T T F 20 g B TWH B F IdA

CO, % e % e w8 fimed & @ (Ca BT 9Ty

a?cmﬁ =40 %)

O o w »

[CaCO —1200K | 20+ €O ]
(1) 264g 2) 132g
G) Li12g @) 1.76g

a1 B w1 ¥ | uw A i A ok gE
& ‘@ R’ fafea fear man ¥

AfFe A : wiar A G=-nFEg W, A G @
A n gt fefe &var #)

F R : Egy AA-w@ad e ¥ ok A G w&
At e ) -

At fem o wesY & ament wx, A fiw o feway
¥ @ wh I g

(1) Awd? aig R o R

(2) A o ¥ uig R & ?|
(3) A ot R g & ot R, A &) w9l =remn

?l
(4) Aot RIM u &, g R, A &1 wel amen

T 2
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Chossag the COrmeet answe
Eiven bolow

oy
)
(3
4)

o

11}
)
(3)
(4)

e enrreet wimieme "E Trom the
At ol il ¢ loangins
Tundnmeniul Pt s
The Winae ol g1 Cloction i
Ui . p M hg

A dwnipen of piven eleme
N Chemeal
Pravions, and ol
Anown an LIS

We Comipuosid of 1w

LLLIEN [T
AT

ctroms mre collectively
e i
Palion’s atomic theon, regarded the atom
By an wlimane particle of matter

1 from the options

A and | only

B Cand | onh 2
AL B and only

C.Dand L only

N
For s certam reaction. the rae = & [A]' |Il]‘ when
the inimal concentration of A is i
sancenttstion of B constant, the init

pled keeping
tal rate would
maerTase by factor of nine.

mnerease by a tactor of three, 1
decrease by o tactor of nine.
merease by a factor of six,

CGrven below are two statements - one is labelled

as Assertion A and the other is labelled as
Reason B

Assertion A @ A reaction can have zero activation
eherey

Reasons K :

The minimum extra amount of

energy alsorbed by reactant molecules so that

thew energy becomes equal 1o threshold value,
12 called activation cnergy

In the Light of the above stalements, choose the
correct answet from the options given below

(1)
(2)
(3)

(4}

A s true but B ogs false

A s taulse but R s true

Both A and B e true and R is the comreet
explanation of A

Both A and 1 are vue and R is NOT the
carmect eaplatiation of A

7 Wihich of the Tollow g reactions will NOT give
primary amne ss the product?

i)

(2)

i3)

4)

il i.i\lilJ

(uitigtia

CH N +» Product

1

i akid
— 224y Product

CHCONN,

i blylig
CH; CONH, —22 20 L pyguey

CHON —EL20 g

fiitylim
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2 e
fuerladran A 7 wh # o o A KT HY gy g
o9 100 by gy

A =L DT |
1 phegs w1 gt
LY

geisin mra ¥
D i e §AE
BrA i

[
wm % wm @ WAl

s fom m fwaet A 0 A 3 P

(1) mam A L

(2) wam B C AL

(3) #am A B A1 C

(4) &= C. D AT E

farn feforz fwfsmn % b,

fyrh e B, T sraprfm, 10T T, s
¥ J
fai ®) ¥ FU N i

vinrn @, v feat A TN BN T iy i

an = k[a][B] #1773 B @ " 3 forr gy
¥ A 1 iy mz AT T F A R, A gy

an -
# % FIT A% Fm
() m 5 rm @ 7 A
() = & g Wz FT
(4) g:gw;mﬂml
A A aaa frrom b w Cwfuwaa A i
= ‘Frm R fafra fam mm by

=

aAfvraa A : e afvizm A a3 wises 556 0

waA by

T R : SaTE S 2 sranis S
srfafran st 1w feom g9 o el ma

A 0 oA, wfrun s sead by

sut fom o g & sman wr, S fa o faed

" 8 wh amt gfm
(1) Awm b orq R sma b
{2} A smm b 9] Rua by

(3) A sht RO 5 ¥ shy R, A 91 50 mres

L1

) ARG wGE qrq R, A @ v e

ELE

foraiafian sfufag s

wiuing 0di4 qf 2dy
'” (‘ll‘Nl' .ul.n\tul_._‘!‘."'“_1

...-n‘nr_
L] ’ . ul 1]
CCngconn, el sk
O

i b, i

) CHycong, B s am
T A LAl

4) H.CN —.“_u‘”-_i » TN
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frewm the Gdleme wy 5,{,,\,“ v |
(1) Vatuwn

Foatudd b

(21 Veronal
() € hbwdiasmepern e
(§) Meprebspmnae

The tiven commprmmed
CH=CH

CH-CM, O,
i 1 $
5 x
o |
"“\/
" an crample of ) )
(1) allyhic haivie 2) »w

(3) ben, £yl hadvde (8) o

Werght ig) of two moles
competand, whech n odbtzmed
cthannste wah welirs Lol i)
calcum oxule »

iy 0 2y u
3) 15 % 3
A commpeuand » formed mn
B The clerment B formn
structurs

and atoms of

tetraborsl vouds [ e e
A B then the salue of
i 3 2y 2
3 % i 4

Amongsl the grven opte
following ssdotnics wa
(R3] BF-: 2y
3y NH, i4)

In Lassagne's evoract of 2
buth mutrogen and sulphur
gives Blowd red coboer w
formatan of -

- -
)y | }5‘(‘\.‘9 MJ.\_
5 EF:(SC\I_-.

3)
+)

Fe,[FefCN) ] o
NasCN
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Some tranquilizers are listed below, Which one
from the following belongs to barbiturates?
(1) Valium -

(2) Veronal

(3) Chlordiazepoxide 2

(4) Meprobamate

The given compound .
CH=CH- (|3H —CH, CH,

X 1

is an example of ;
(1) allylic halide” (2) vinylic halide

(3) benzylic halide (4) aryl halide

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is : ' '
(1) 30
3) 16

() 18
@ 32 4

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound
is A;B,, then the value of x +y is in option
(1 3 2) 2

3) 5 ‘@ 4 3.

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) BF, (2) OH- '
(3) NH, 4 H0 1

In Lassaigne’s extract of an organic compound,

both nitrogen and sulphur are present, which
gives blood red colour with Fe3* due to the

formation of -

(1) [Fe(c:N)5 NOST-
@ [Fe(seN)]**

(3) Fe,[Fe(CN), ], - xH,0
(4) NaSCN
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3) 35

"ﬁ%ﬁwamqsﬁaﬁﬁ?qmﬁlﬁﬁﬂﬁ“—m

qifdzza & wafa & 7
(1) s
(2) I
(3) FEETESUEES
(4) e

T war s
CH=CH - CH - CH, CH,
X

T Uh IEEL Tl
(1) Uffes demms (2) - aEhiive aEs
(3) afifes Fogs  (4) R toms

i oifTEs @ SuReRy § it v @
Ty TEgieaEs & 91T T & 9T S BEAH

it g dar ¥, SEb & "l & 9 (g)

(1) 30
(3) 16

) 18
4) 32

s A 2T a@l A ik B &0 <1 e ¥ @« B
T fifes dgfa @ v § ok A & g
1/3 agesae il = wwa 1 afk afe & g3
ABy B I fasedl F ¥ x+y B A

(1 3 2 2 -
4 4

T 1o et & / S—T1 81 / A I o0t Y
& I HL@T & 7
(1) BF4
(3) * NH,

(2) OH-
(4) H)O

fepely diftres & O Prepd W TEZSE 8 GEHT QY
Iuityd € W1 Fe3t % wy Pr=fafaa & 593 & s
TR W Wi W O ar §)

(1) [Fe(cN), NOST’
@ [Fe(son)]*

(3) Fey[Fe(CN) ], - xH,0
(4) NaSCN
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79 ldentify product (A) in the following reaction :

*@/@(

Zn—-Hg

conc. HCI + 2HZO

CH,
CH,0H

3
@
CH,
3) /\O/Q\/
~ OH _
“4)
OH

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Metallic sodium dissolves in liquid
ammonia giving a deep blue solution, which is
paramagnetic.

Reasons R : The deep blue solution is due to

the formation of amide.
In the light of the above statements, choose the

correct answer from the options given below :
(1) A is true but R is false. 1

(2)° A is false but R is true.

(3) Both A and R are true and R is the correct

explanation of A.
(4) Both A and R are true but R is NOT the

correct explanation of A,

80
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“4)

Zn-Hg
—zer (A)+ 2,0
?H
CH,
n - CH,OH

)

3

M & e Ry T ¥ 1o Y o AY ol g

@& ‘@ R’ fafeq fear mard)

A A : uifaes Qg gg et ¥ gEst

TEX A T @ R o 3, S orggaa g bl

ﬁ;‘ e e e Yge ¥ @ &
|

ST R G Fe % amum v, A9 fg e R

44 wh vt gh

(1) A %@ ¥ Wy R o 3

(2) A o b wig R w3

(3) ;aﬁﬂtaﬁm%aﬁin Aaﬁﬂﬁa‘f@“
|

(4) A ol R 7 &, oy el
8 3 U{g R, A @ g8l
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Which one of the following statements is

correct?

(1) The bone in human body is an inert and
unchanging substance,

()

and interncuronal transmission,

The daily requirement of Mg and Cn in the

human body is estimated to be 0.2- 0.3 g.

All enzymes that utilise ATP in phosphate

transfer require Ca as the cofactor.

The relation between ng, (n,, = the number of

permissible values of magnetic quantum number

(m)) for a given value of azimuthal quantum

number (/). is

M nm=2a'2+l

3)
E))

(2) n,=l+2

nm—l

G) I=

@) I=2n +1

Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH,, AICl;, BeCl,, CCl,, PCI; :
(1) 4 @) 1 3
G) 3 @ 2

Which one is an example of heterogenous
catalysis?

(1) Decomposition of ozone in presence of

nitrogen monoxide. '

(2) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

Hydrolysis of sugar catalysed by H* ions.

(©)

(4)

Which amongst the following molecules on
polymerization produces neoprene?

(1) H,C=CH-C=CH

AR
(2) H,C=C-CH=CH,

(3) H,C=CH-CH=CH,

(!:!
(4) H,C=C-CH=CH,

H6_Hindi+English |
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Pl werit & & @ wh &7

(1) wir ol o vl ua sy o afradada
g ki .

Mg sfataifsaa defva w4
aercifadya wam ¥ vftrr e ¥

nra gt Mg afrt Ca @i s s
0.2-03 g arpfm 21 &

T doge W widEz e § ATP %
audyn & ¥, % fou we-ues & w0 4 Ca
ey ¥

(2)
(3)
“4)

Risira gaten wem (/) % fed oo o e & o
n, = (Ga@a Fizy g (m) & aga A 4
Hem) & 9 §dy &

() n =2%+1  (2) n,=1+2

n_ -1
@3) I=—m @) I=2n_+1
Preafuan & & o s oY gt s forrd
TTAIY] % QEIH BIH 6 AR AT S Tz
WE L
NH,, AICl,, BeCl,, CCl,, PCI;
(1) 4 @ 1
@) 3 @ 2
frefaflad % & dm—w1 foaih S@or &1 wwETw
t?

(1) A AAeEEs @ SuRai ¥ o EE &
YA :

(2) weW qitfa s ot Suitafa § et a9
& fe STERZIa o SRERE & 99 A

(3) g & oenEsl @ SuRuafy § weet
SIS 1 TEHT FIFHNAIES H HHIBY

(4) s & HY smaRl gra Saita Swwees

frafafed A @ av-w e 0 W Feids
T HUM?
(1) H,C=Cl-C=CH
(l.‘llj
(2) H,C=C-CH=CH,
(3) 1,C=Cll-CH=CH,

Cl
|
(4) 1,C=C-CH=CH,
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lemistey @ Seetion-B3 (Q No. IIS(TVI-(I*I(TI-))_'

On balancing the given redox reaction,

a (‘1‘_,0;\' +b suj' (2q) + c U (aq) -
2a Crt (aq) + b SO_‘;" (aq) + -:- H,0(0)

the coeflicients a, b and ¢ are found 1o be,
respectively -
() 1.8 3

(3 1.

(2) 81,3
38 ) 3,8, 1

]

The re';zctiou that does NOT take place in a
blast furnace between 900K to 1500 K
temperature range during extraction of iron is :
(1) C+CO, - 2c0 |

(2) Ca0+si0, — Casio, 3

3 Fe,0, +CO - 2Fe0 + Cco,

4) FeO+CO— Fes+ co,

\\'I_w.t fraction of one edge centred octaledral
void lies in one unit cell of fee?

1

1
Mz Sl
-~ ] 1
G) < (4) 3

Which amongst the following options is the
correct relation between change in enthalpy and
change in internal energy?

(1) AH-AU=-AnRT -

(2) AH+AU=AnR

(3) AH=AU- An RT

(4) AH=AU+An RT

Match List - I with List- IT :

List - I (Oxoacids  List - I1 (Bonds)

of Sulphur)
Peroxodisul- I.
phuric acid
Sulphuric acid

Two S-OH, Four S=0,
One S-O-S

II. Two S-OH, One S=0

Pyrosulphuric  III. Two S-OH, Four §=0,
acid One S-0-0-S

D. Sulphurous acid V. Two S-OH, Two §=0
Choose the correct answer from the options
given below :

(1) A-L B-llI, C-1V, D-lI 4

(2) A-ll, B-1V, C-II, D-I

(3) A-l, B-1II, C-lIlI, D-1V

(4) A-lll, B-1V, C-1, D-lI

A.

B.
c.
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+
aCr 03' +b SO;!— (aq) +cH (aq) oy

[
+b50Y (aa)+7 H,0(¢)

2a Cr™" (‘r'q)
oL 2 8 l,?
ESI; 3,8 @ 38 -
& 7 900
o % o & ST A g ¥
1500 K v 3 2 it Sl T ¥ T B, 3
T
(1 C+C02‘>2CO

Ca0 + Si0, = CaSiO;.
Fe,O, + CO — 2FeO + €O,

FeO +CO — Fe + CO,

(2)
3)
) :
fec oY wh T Fifted 3 T BT HH vy
ffer ot fpam sigr Suferd e & 7

2

Sl=

(1

L |—

3) 4)

R]= =|—

frefafen famedl & § am—ar wdwd afady st
afafte Sal uiady & 9w gay 7

(1) AH—AU=-AnRT -
(2) AH+AU=AnR
@3) AHzAU—AngR'T

(4) AH=AU+An RT

-1 R - 1 % wrer v w8

-1 -
(‘f"“ & (smretey)
SHTFI)

& S-OH, Tt $=0,
T S-0-S

A TIETS- L

O WS S 0L § S.0H, wm $=0
C. L L. = S-OH, =t $=0,
_ T S-0-0-S
% T & IV @ S.0H, § §=0
e . fermwy & W 3 g :
(1) AL B, ¢y, poy ‘

(2)
3)
)

A-ll, B-1v, C-11, D1
A-L, B-l11, C-ll, D1y
A-1l, B-1v, C-l, D-Jp
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91  Identify the final product [D] obtained ‘in the
following sequence of renctions,

CI1,CHO ‘;'l:"(")'g »[A] 224, (]

9]

Nu/dry cther

Br

1HDr N [C]

(N C,Hy,

»[D]

2) HC=C® Na*

©) @f\ ’

92  Which complex compound is most stable?
(1) [cocl,(en), | NO,

@) [Co(NI 1) 6] A(50,), | 1
3) [Co(NHJJd(Ilzo)Bl’](NU3);

) [CO(NI-I3)3(NO3)3]

93  Consider the following compounds/species :

8.

;
.
25

I

The number of compounds/species which obey
Huckel’s rule is
(I 2
(3) 4

8

iii.

vii.

@ 5
“4) 6

H6_Hindi+English |
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mﬁ@wmﬁ&sﬁnﬁﬂﬁwmﬁmaﬁmw [D]
W yeEIRa )

CH,CHO A4, [A] 112304, [B]

i) H;0% ~
Br

©/ ‘[D]-

Na/qwiatr

HBr

>[c]
() CH,,
(2) HC=C®Na*

3)

J

BT WP A wEW et 37
m [Coclz(en)z]ll\lo3

@ [co(NH;),](s0y),
@) [co(NH,), (H,0)Br](NO,),
) [co(Nm;),(Nos), ]

Prefefaa difirer / st oz famm ?ﬁlﬁﬂ'q:

T whel (UM @1 g B are At [ el
o e ¥
(2
(3) 4

2 3
@ 6
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‘D. V,04dissolves in acids to give VO

—_—

Which amongst the following will be most
rcadily dchydmted under acidic conditions ?

/J\,/\

0, Oli
)\/|\CH;
OH
(4) M
H;C

Which of the following statements are

INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.

B. The highest oxidation
corresponding to the group number in
transition metal oxides is attained in Sc,05
to Mn20-?.

C. Basic character increases from V,0; to
V204 to V-)Os

salts.

E. CrO is basic but Cr,0; is amphotenc

Choose the correct answer from the options

given below :
(1) C and D only
(3) A and E only

(2) B and C only
(4) B and D only

Pumice stone is an example of -
(1) solid sol (2) foam

(3) sol 4) gel 1

The equilibrium concentrations of the species
in the reaction A+ B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K., AG® for the
reaction is (R =2 cal / mol K)

(1) —1381.80cal (2) —13.73 cal ]

(3) 1372.60 cal (4) —137.26 cal
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Preafafag & ¥ sF-ar ot oRRaRal & gad
arftres smar 4 Freifra g ?

3)

€Y e |

fr=fafaa & ¥ S99 wuq a8 78 37
A, @ftam & afafam o @ao agd MO
STFTEE SAT € S oTEfae B g '

B. |9 €EAT & E SeaqH ST HEdT WHEe
HTg SFTESt § Scy03 & Mn, 0, ¥ wra &t
(I .

C. V5038 V,0, % V,0, F & s 1 &
WEHYT qEAT T

D. V,0, or=if # gast VO~ @aw ¥an ¥
E. CrO amlig ¥ 5=l Cr,0; wawdt ¥

A fog Mo e ¥ @ wd suw gh:
() Faw Cair D (2) ¥aw B ol C
(3) %A AT E (4) &aw Bk D
i TR SaTeR &

(1) 2@ §ia & 2) w9 W

(3) d@ W (4) W @

300 K 9t aififier A+B=C+D ¥ s &
TITERAT Wigad Wt 2, 3, 10 3% 6 mol L-1 &)
sififisa % firg AG® #: (R =2 cal / mol K)
(1) —=1381.80cal (2) —13.73 cal

(3) 1372.60 cal (4) —137.26 cal
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m"“i""‘r\ (Q. No. 101 to 135) ,

101 ldentity (he pair of heterosporous pteridophytes
mong the following :
(D Psilotum and .ﬁ:c:h'im‘rl
(-:—1 Equisetum and Salvinia 4
() Lycopodium and S, laginella
) Selaginella and Salvinia

102 The reaction centre in PS I has an absorption
maxima at
(_!) 660 nm . (2) 780 nm
(3) 680 nm (4) 700 nm

103 Identify the correct statements :

A.  Detrivores perform fragmentation.

B.  The humus is further degraded by some
microbes during mineralization.

3 C.  Water soluble inorganic nutrients go down
into the soil and get precipitated by a
process called leaching.

D. The detritus food chain begins with living
organisms. -

E. Earthworms break down detritus into
smaller particles by a process called
catabolism.

Choose the correct answer from the options

given below : ‘ £

(1) C,D,Eonly (2) D,E, A only

(3) A,B,Conly (4) B,C, Donly

104 Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out [
the characteristics specific to family Fabaceae

3 but not found in Solanaceae or Liliaceae.

(1) Monoadelphous and Monothecous anthers
(2) Epiphyllous and Dithecous anthers

(3) Diadelphous and Dithecous anthers

(4) Polyadelphous and epipetalous stamens

105 Given below are two statements :
Statement I : The forces generated by

transpiration can lift a xylem-sized column of
water over 130 meters height.

Statement II : Transpiration cools leaf surfaces
sometimes 10 to 15 degrees, by evaporative
cooling.

In the light of the above statements, choosc‘ the
most appropriate answer from the options given

below : '
(1) Statement I is correct but Statement 11 is

incorrect. ;
Statement I is incorrect but Statement 11

is correct.
Both Statement 1 and Statement 11 are

correcl. ‘ .
Both Statement 1 and Statement Il are

incorrect.
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“
lelﬁaﬁﬁgm%mmm&ﬂwaﬁé%

ol (2) 780 nm

1) 660 nm
((3; 680 nm (4) 700 nm

f ! qEeEg
f%ﬁ"ﬁﬂﬁ@%ﬁaﬂﬁ%l
B. @ﬁwmaﬁmwaﬁrmﬁmm
2 & g afelietr 81 S :
W gaAee S WY YT ¥ g
i ¥ afrt sradfa & 9 ¥ R e a
gl
D. G W Y@l Siifad siEl § oo g
E. %gam SI0(c &I WiEa &Y Bl & 7 € &

t R ermaae wEd ¥

o0 o T e ¥ @ W TR g -
() ¥3a@ C,D,E (2) ®aw D, E, A
(3) %@ A, B,C (4) &aw B,C, D

e g, AN oz Referaeht F fre 31 g d
o § S30 F 9 e @ gvg o dend @
ferfereatt & w2 wrd wm ;
(1) % & it G e

(2) wiew & oi fearsd e

(3) fedet ot fearsdt wrrater

(4) ¥ @ o wer gdeEe

"ﬁ'ﬂﬂﬂizﬁ&ﬂ‘qﬁ%:
m“':wﬁmaﬁwmwi
W & W A 130 . S a1 w2
mqﬂll:aruﬁmf&m?ﬁﬁaq%m oot ot @l
WS A =T 10-15 By se7 e B
VR Tl % v 9, N Ry et F @ W
St yfu - !

c.

(1) % 1 w8 ¥ qog wem 10 7erg 31
(2) EWIW%WQW"H&%I
Q) F 1oix T 10 & gy 2
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Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Late wood has fewer xylary
elements with narrow vessels,

Reason R : Cambium is less active in winters.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct

explanation of A.

(4) Both A and R are true but R is NOT the
correct explanation of A.

In the equation

[GPP — R=NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is ; 1
(1) Respiratory loss
(2) Reproductive allocation
(3) Photosynthetically active radiation
(4) Respiratory quotient

What is the function of tassels in the corn cob?
(1) To disperse pollen grains

(2) To protect seeds

(3) To attract insects

(4) To trap pollen grains

Which hormone promotes internode/petiole
elongation in deep water rice?

(1) Ethylene (2) 2,4-D

(3) GA; (4) Kinetin 1

The phenomenon of pleiotropism refers to

(1) asingle gene affecting multiple phenotypic
expression.

(2) morethantwogenesaffectingasinglecharacter.

(3) presence of several alleles of a single gene
controlling a single crossover.

(4) presence of two alleles, each of the two

genes controlling a single trait.

What is the role of RNA polymerase IlI in the

process of transcription in Eukaryotes?

(1) Transcription of precursor of mRNA

(2) Transcription of only snRNAs

(3) Transcription of rRNAs (28S, 18S and
5.8S)

(4) Transcription of tRNA, 5 srRNA and

snRNA
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M s RA W E qmﬁsmamA%eﬁT

WU FEE R T :

FeTammE Fuw A : USERIE ¥ dwll areded aw

a1 WEed a9 B el

FR : Hﬁu‘rﬁ%ﬁmmmsﬂﬁﬂmtl

Iudad syl & fawa A, e @ 1 frwe 4 @ @@

Tt gha -

(1) Awx? ug R owd 2

(2) A sw@ ® 9tg R ad@ ¥

3) %Aahnﬂifm%aﬁTR,Aaﬁaﬁrm

|

) %@;Raﬁm%wk;\ﬁwm

1

Frefofaa wfe &

-
LS. g wuhE SaEEar B
TAALY. T grithe SaEEd ol
T (R) &1 &7
(1) s987 @iy
(2) W o€
(3) vwaysadr afea fRafetor
(4) FEF NS
w1 B ¥ God () &1 1 s e §?
(1) v &1 fsaa
(2) € & @ s
(3) I & ATHIT B
(4) TWTEE S YHS

TMEL I A 9199 ¥, B8 EREH T4/90 & W

I g ¥ 7

(1) qfe= 2) 2,4=
(3) GA; (4) @At
AT B T & w o ¥ 7

(1) U= Tohd S S 9% § 399 ol sifveaferay
B WA HTar 21

A Y A A A UF THA T B AR
B ¢

UEHd WH % §gd § geml (W famer)
mﬁuﬁ[%m‘rqasqmﬁﬁﬂfaﬁrwmﬁw
HT B

<1 TErel @t suitafy, ww @ @ SN & uee
e & e s ¥

gHf@e ¥ aaws @ wiear ¥ siuAL,
qifera 111 &t ar s el &2

(1) mRNA & pimh &1 sreras

(2) Fa@ snRNAs &1 sreras

(3) rRNA (28S, 18S ait 5.88) &1 ara@EA
(4) tRNA, 5 srRNA 3l snRNA &1 sqerea

()
(3)

(4)
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Expressed Sequence Tags (ESTS) refers to

(1) A1l genes whether expressed or
unexpressed. '
Certain important expressed genes,

All genes that are expressed as RNA.
All genes that are expressed as proteins.

)
3)
4

Uneql.:ivocal proof that DNA is the genetic
material was first proposed by

(1)  Avery, Macleoid and McCarthy
(2) Wilkins and Franklin C 4
(3) Frederick Griffith

(4) Alfred Hershey and Martha Chase

Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

(1) Alien species invasions
et 3
(2): Co-extinctions
(3) Habitat loss and fragmentation
(4) Over exploitation for economic gain

The thickness of ozone in a column of air in the
atmosphere is measured in terms of :

(1) Decameter (2) Kilobase

(3) Dobson units (4) Decibels

Which of the following stages of meiosis
involves division of centromere?

(@) Anaphase I (2)‘ Telophase

(3) Metaphase I (4) Metaphase IT

Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production? .

(1) Zeatin

(2) Abscisic Acid 4

(3) Indole-3-butyric Acid

(4) Gibberellic Acid

The process of appearance of recombination

nodules occurs at which sub stage of prophase
I in meiosis?

(1) Diplotene
(3) Zygotene

(2) Diakinesis
(4) Pachytene
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o ¥
N -
T i i o o R s
€ & | o
E;gﬂﬁi'ﬁaiil : .
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Given below are two statements :

Statement I : Endarch and exarch are the terms

often used for describing the position of

secondary xylem in the plant body.

Statement II : Exarch condition is the most

common feature of the root system.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is correct but Statement IT is
false. :

(2) Statement I is incorrect but Statement II
is true.

(3) Both Statement I and Statement II are
true.

@ ?c;th Statement I and Statement II are

alse.

Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Bright yellow colour

(2) Bright orange colour

(3) Bright red colour 2

(4) Bright blue colour

Frequency of recombination between gene pairs
on same chromosome as a measure of the
distance between genes to map their position on
chromosome, was used for the first time by
(1) Alfred Sturtevant

(2) Henking

(3) Thomas Hunt Morgan 3

(4) Sutton and Boveri

In gene gun method used to introduce alien DNA
into host cells, microparticles of

metal are used.

(1) Tungsten or gold

(2) Silver 1

(3) Copper

(4) Zinc

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :

(1) Development

(2) Senescence 4

(3) Differentiation

(4) Dedifferentiation

Which micronutrient is required for gplitting of
water molecule during photosynthesis?

(1) magnesium (2) copper

(3) manganese (4) molybdenum
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Tad qad wae § ool qeiae el @ ue
Hae oy wre § Few o % e e s
HZAT B FAT el o el &P

(1) ufads

(2) wEEn

(3) fadew

4) Ffavem
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(1) #hifimam (2) wiar

(3) HArfr (4) witESTw
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Large. colourful. fragrant flowers with nectar
are seen in:

(1) bat pollinated plants

(2) wind pollinated plants

(3) insect pollinated plants

(4) bird pollinated plants

Given below are two statements : One is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : The first stage of gametophyte in

the life cycle of moss is protonema stage.
Reason R : Protonema develops directly from

spores produced in capsule.
In the light of the above statements, choose the

most appropriate answer from the options given

below : _

(1) A is correct but R is not correct. 3

(2) A is not correct but R is correct.

(3) Both A and R are correct and R is the
correct explanation of A.

(4) Both A and R are carrect but R is NOT the
correct explanation of A.

Cellulose does not form blue colour with lodine
because

(1) It does not contain complex helices and
hence cannot hold iodine molecules.

(2) It breakes down when iodine reacts with it.
(3) It is a disaccharide.

(4) It is a helical molecule. 1

Given below are two statements : One is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : ATP is used at two steps in

glycolysis.

Reason R : First ATP is used in converting

glucose into glucose-6-phosphate and second

ATP is used in conversion of fructose-6-

phosphate into fructose-1-6-diphosphate.

In the light of the above statements, choosc the

correct answer from the options given below :

(1) A is true but R is false,

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A.

(4) Both A and It are true but R is NOT the
correct explanation of A,
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The historic Convention on Biological Diversity,
“The Earth Summit” was held in Rio de Janeiro
in the year :
(1) 1986
@) 1985

(2) 2002
(4) 1992

Movement and accumulation of ions across a
membrane against their concentration gradient
can be explained by

(1) Passive Transport

(2) Active Transport 2

3) Osmosis

(4) Facilitated Diffusion

Axile placentation is observed in

(1) Tomato, Dianthus and Pea

(2) China rose, Petunia and Lemon
(3) Mustard, Cucumber and Primrose
(4) China rose, Beans and Lupin '

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out
(1) Histones
(3) RNA

4 (2) Polysaccharides
(4) DNA

Among eukaryotes, replication of DNA takes
place in - '
(1) G, phase
(3) M phase

(2) G, phase 4
(4) S phase

How many ATP and NADPH, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 12 ATP and 16 NADPH,

18 ATP and 16 NADPH, 4

12 ATP and 12 NADPH,

18 ATP and 12 NADPH,

©)
4)

In angiosperm, the haploid, diploid and triploid

structures of a fertilized embryo sac sequentially

are :

(1) Synergids, Zygote and Primary endosperm
nucleus T .

(2) Synergids, antipodals and Polar nuclei

(3) Synergids, Primary endosperm nucleus and

zZygote ) :
Antipodals, synergids, and primary

endosperm nucleus

@)
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(1) e B, S ST wute YeTiy
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136 Match List 1 with List 11 :

List 1 List 11
(Interaction) (Species A and B)
A Mutualism I H(A), O}
B.  Commensalism Il ~(A), O(B)
C. Amensalism I +(A), <(B)
D.  Parasitism IV, 1(A), +(B)

Choose the correet answe
given below :

(1) A<V, B-1IL, C-1. D11

(A AL B-L, C-IV. D-1I

(3) A=V, B-II. C-1. D-1

() A-IV, B-I, C-I1, D-1I

Match List 1 with List II :

List 1 List 11

Iron I Synthesis of auxin
Zinc 1. Component of
nitrate reductase
Activator of catalase
Cell elongation

and differentiation
Choose the correct answer from the options given
below :

(1) A-IL B, C-IV, D-II

(2) A-IL B-1V, C-1, D-11I

(3) A-lIL, B-IL C-I, D-IV

(4) A-ll, B-lII, C-1V, D-1

Identify the correct statements :

A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

Bark formed early in the season is called
hard bark.

Bark is a technical term that refers to all
tissues exterior (o vascular cambium.
Bark refers to periderm and secondary
phloem.

E.  Phellogen is single-layered in thickness.
Choose the correct answer from the options given
below :

(1) A, BandD only
(2) B and C only
(3) B, C and E only
(4) A and D only

Which of the following combinations is required

for chemiosmosis? ; =
(1) proton pump, clectron gradient, ATP

r from the options

-1

A
B.
C 11
IV,

Boron

D. Molybdenum

138

B.
6
D.

4

139

synthase .
proton pump, electron gradient, NADP

synthase :
membrane, proton pump, proton gradient,

ATP synthase .
membrane, prolon pump, proton gradient,

NADP synthase

n

(2)
(3)
(4)
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i fod 7 feget B @ N T AF
(1y AV, BN, C-I, DI
(2) Al B, C-1v, D-II
(3) A-IV, B-II, C, D-[1
(4) A-IV, B-I, C-II, D-I1
137 T 1@ gl ll%ma%ﬁilm:
l \
A. 3‘: . ofead &1 "y
B. fim . T2 fewm 71 2
C. I, %2 & ahaws
D. difi@Em IV, @i & A
A g ™ feed ¥ 4 @@ Tee ghm
(1) A-lL, B-l, C-IV, D-II
(2) A-II, BV, C-1, D-III
(3) A-lII, B-II, C-I, D-IV
(4) A-II, B-IlI, C-IV, D-I
138 & @ & v
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(1) & A sy
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140 Main steps in the formation of Recombinant
DNA are given below. Arrange these steps in a
correct sequence,

A. Insertion of recombinant DNA into the host
cell.

1 B. Cutting of DNA at specific location by

restriction enzyme.

C. Isolation of desired DNA fragment.
D. Amplification of gene of interest using PCR.
Choose the correct answer from the options given
below :
(1) C,B,D,A (2) B,D, A, C
3) B,C,D,A - (4) CAB,D

141 Given below are two statements : One is labelled

. as Assertion A and the other is labelled as

Reason R :
Assertion A In gymnosperms the
pollen grains are released from the
microsporangium and carried by air currents.
Reason R : Air currents carry the pollen grains
to the mouth of the archegonia where the male
gametes are discharged and pollen tube is not

3 formed.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct
explanation of A,

(4) Both A and R are true but R is NOT the
correct explanation of A.

142 Melonate inhibits the growth of pathogenic
bacteria by inhibiting the activity of
(1) Lipase
(2) Dinitrogenase
(3) Succinic dehydrogenase
(4) Amylase

143 Which of the following statements are correct
about Klinefelter’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).
B. Such an individual has overall masculine

1 devclopment However, the feminine

development is also expressed.
C. The affected individual is short statured.
D. Physical, psychomotor and mental
development is retarded,
E. Such individuals are sterile.
Choose the correct answer from the options
given below :
(1) Band Eonly (2) A and E only
(3) AandBonly (4) Cand D only
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gAETT €).u.q. % Pafu % ger g A9 il

%1 3% ud v A wafyd Fifg)

A.  gandy Eifyre A gaiTer SLOE.T. a1 ST ade

B. vwhrarga umgH g0 SIwAT & ue fafire e
T AT

C. wifsa SiwAT @ve & gus B

D. W #demm. & SUE HId 5T aifsd §E 6
arrae=

T R @ el F 4 w0 suw ghg

(1) C,B,D,A (2) B,D,A,C

(3) B.C,D,A (4 CA,B,D

ﬁﬁﬂmmﬁﬂ;ﬁ%:%ﬁammmA%eﬂT
TEAFRT RE ;-

TR FUR A ¢ STgadTl qIeyl § Y07 H gE
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Sugat HUAl & g A, T i 1 fowedi § & @@

S g ¢

(1) Am%wl&m%l

(2) A o@@ ® 9tg R a7 ¥

(3) AaﬂTRa’H’rw%aﬁTR A &1 G =R
21

(4) A@TR:HW%WR,AaﬁHé’rW
T ¥

A Rree! wlpaar & AHHT, WTHRS Sarvgsi
@t gha @l Tear & ?

(1) wmErs

(2) sEAEdfTw

(3) wife S

(4) wEe

Firtreet Rigw & foog & S99 99 wdr 32

A. 59 fyar @ ool wad ved st s (1866)
w fepar am

B. us afe ¥ wamuma s uiEds e ¥
et e s W s e §1

C. wyuiiaa =afem B S &1 ear &)

D. orlift, wg@miet ot e fae w6 wimar
#

E. U wfr e g ¥)

i Rl T R ¥ | W s g

(1) %@ BORE (2) %@ A ok E
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A Muidative | Cltrmte M - -
decarbasy lation N thpge A dlml,ﬁ,ﬂhﬂd f i, qrEEaL f%’ﬂm

N Ghoolysis Py, e » ﬂﬂﬂm:f"” f girazl4 uftarsy T

dehydropenase B TON sfza .

U Ondative ML Eleciron C. ,3;;.‘1@-» :' &, afray
phmphm_\ lation transpop system gremif v . 7z, UH,91,

D Tk arbosy Jig V. LEMmp Pathway D _,rg%mﬁfc}({ff'f’ﬁ
acud evele it Gl - . E}f“ﬂ!

Choose the cormect answer from the Optiong given o foraedt q a#l =

below - 4 faa Lo I D-1V

o2 i

A-I1, B, ¥

{21)) A-II, BV, C-H:, g‘]
A1, B-1V, C-II

e Al B-1v, C-1, DI

; TE &2
145 ﬁmﬁwﬁaﬂﬁjﬁa?;ﬁwﬁﬁﬁmﬁj
e graferes et % g FSe waTad *ﬁ@‘-"
(2) shaifes ey e 7T ol ¥ T B 3,
jﬁﬁwﬁﬁﬁﬁmmﬁ T
3) FC AT GETT STEAD Sy
A ¥ frgd wielig Sl @ TG B S ¥
. Wﬁmmqﬁ$mm
()Wm%ﬁm%@aﬁmm%

ST o wl qerdr <t ¥

146 0 Lot gt 10 & arer gafea ifrd
o1 o 11

(1 A-, B, C-11, D-1v
(2) A B-IV, -1, D 2
(3) A-lI, BV, C-11, D-]
(4) A-l1, Bav, C-1, D-111

145 Which one of the fnllowing Stalements jg NOT
correct?

(1) Water hyacinth grows abundantly in
cutrophic water bodjes and leads to ap
imbalance jn the ecosystem dynamics of
the water body,

(2) The amount of some toxic substances of

4 industrial waste water increases in the
organisms at successive trophic levels.

(3) The micro-orgam’sms involved in
biodegradation of organic Mmatter in a
sewage polluted water body consume a lot
of oxygen causing the death of aquatic
organismes,

(4)  Algal blooms caused by excess of organic
matler in water improve water quality and
promote fisherijes,

146 Match List I with List I7 - . L s @ Tgeryuy
List 1 List I1 A. M yraen
A. M Phase I Proteing are B. G, graen I atfera sraeen _ ,
synthesized C. oid eraenr 1L E’q’q\sﬁ BIfyTehT
B. G, Phase Il. Inactive phase ‘ e sfit
C.  Quiescent I Interval between '
stage mitosis and g, gﬁ%ﬂ:’
initiation of DNA ® AN BT ¥ g
replication S Lo

O i . Equational
D. G, Phase IV, (lj:i(‘;;?:iz:)]na D. g, IV. 9 R
Choose the correct answer from the options given R T ey ¥ ¥ 9 3 gy
below - (1) A4V, B-1, C-11, p.yyg
(1) A-IV, B-1, C-11, Doy 1 (2) AL, B-1V, C-1I, Dy
@ AL B-1V, C.1, Do () A-lIL B-1, C1y,

() A-IlL, B-1l, C-1v, p.|

(4) A1V, B-II, C-1, Dy () A1V, B1L, C1, it
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Given below are two statemenys - One s |
sy . s labell

as Assertion A and the other g labelled ed

Reason R : a5

\ssertion -\ * A flower is de
shoot wherein the shoot apica]
o floral menistem.

Reason R : Internode of 5
condensad to produce differen; fllgrealsahm:\dgetb
laterally at successive nodes instead EI:P[ —
In the light of the above statements chooesz\tils.
correct answer from the options oi‘\'en bel '?
(1) A is true but R is fajse - o
Q) A ié_lﬁalse but R is e,
3) BothAandR are i
( o e true and R is the correct
Both A and R are try is N
correct explanation ofeAE:m i
March List T with List I7 -

List I List IT
A Cohesion L. More attraction in
liquid phase
Mutual attraction
among water
molecules
Water loss in
liquid phase
Attraction towards
polar surfaces
Choose the correct answer from the options
given below :
(1) A-IL B-I. C-IV. D-II
(2) A-IL B-L C-IV. DI 3
(3) A-IL B-IV. C-1. DI
(4) A-IV. B-III. C-IL D-I

Given below are two statements :

Statement 1 : Gause’s “Competitive Exclusion

Principle’ states that two closely related species

competing for the same resources cannot co-

exist indefinitely and competitively inferior one

will be eliminated eventually.

Statement II : In general. carnivores are more

adversely affected by competition than

herbivores.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is correct but Statement II is
false.

(2) Statement I is incorrect but Statement II
is true.

(3)

(+)

ﬁnc@ as modified
menstem changes

()

B. Adhesion II.

C. Surface
tension
D. Guittation

1.

Iv.

Both Statement [ and Statement I are true.
Both Statement I and Statement II are
false.
How many different proteins does the ribosome
consist of?

(2) 20 3

(1) 40
(3) 80 4) 60
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A & wesy Py ¥ P F A E AT

qUU M R ¥ _

FrawTarTE: Ty A ;0% g @ sufale @ & 89 A

qfontua frar sran & frad wie aftes a1 it

quity Afgen § e S

IR R : gde ¥ g4 Gufa Gt et gdl 91

T & g i geda S S w Y

S wuei o @ A, A R T Rt § @ w6

It gfa -

(1) A @@ ® atg R o &l

(2) A o@@ & 9g R oA &I

(3) A of< R 3 @ € o R, A %1 wél e
¥l

(4) A @it R 3 g ¥ 9g R, A @ @@ e
& ¥
o a7 g 11 % @rg gakad s
T o
A. WG L 5 e ¥ auangd
At armdT
B. amdww | Il W@ VS & 99
qEUY THyT

C. s o=
D. fag @@
I A W e ¥ ¥ 9d sat g ¢
(1) A-I, B-1, C-IV, D-II

(2) A-II, B-I, C-IV, D-IIT ~

(3) A-IL, B-1V, C-I, D-II

(4) A-1V, B-III, C-1I, D-I

A AR TE
F 1 TR & W Sugsi FEH & e T

& diq % fg @uf & o o Precy gERl

Tt o T a6 WU-|y T W THal ST
wdt vy ¥ afean wfy sima: faga & s #
o 11 : QRO SRl S Sod Jirerd
wyl g adaga sife il B ¥

Sugad sl & god #, Y Rl T faaedt § ¥ v
It gy -

(1) == I 98 & og wua 11 o B

(2) == I o ¥ aog w1 & 31

3) = 1 it w11 ) a3

4) wua I afit = 11 Q) oree ¥

EEEE ¥ fa fre-fr= wide B ¥
(1) 40 () 20
(3) 80 4) 60
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WHICH vne o the ol lon g echidgues does not

151
SRV he parpse of carly dingnosis of o disense
tor Gty cavly troatmem??
4 (1Y Polymerase Chain Reaction (rCr)
techngoe
]
D Enzyme Linked tmmunno-Sorbent Axsny
(ELISA)Y weehnigue
.
() Recombinant DNA Technolopy
G Serum and Ulvine analy sis
82 Give
IS2  Given below are o statements:

; mt_onn nt I Vas deterens receives o duet from
semmal vesicle and opens into urethen as the
craculatorny duet.
tartement 11 The cavity of the cervix is enlled
NaE ~ g * § s i i F
cenvical canal which along with vaginag forms
birth canal,
In the light of the above statements, choose the
correct answer from the options given below:
- "
Statement 1 is correct but Statement 11 is

D
talse.

(=) Statement 1 incorrect but Statement 11 is
true.

(3) Both Statement 1 and Statement I1 are
true.

(4) Both Statement I and Statement II are

lalse.

Match List I with List II.

List 1 List 11
A. Taenia 1. Nephridia
B. Paramoeciurm 1. Contractile vacuole
C. Periplanera IIl. Flame cells
D. Pheretima I'V. Urecose gland
Choose the correct answer from the options give
below:
(1) A-lI, B-11, C-1V, D-I
(2) A-IL B-I, C-1V, D-III
(3) A-l, B-1I, C-llI, D-1V
(4) A-L, B-ll, C-1V, D-III
154 Which one of the following common sexually

transmitted diseases is completely curable when
detected early and treated properly?
(1) Hepatitis-B (2) HIV Infection

(3) Genital herpes (4) Gonorrhoea
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4 oh f}" "L urd f‘[
it am aren U5 k3 'Iyr
y il ity

farart sy iy SN W)
e [‘l”rl?l'l (fﬂlﬁ Hre) ff@,.i?¢

1 o l ‘
catl AN S

T (o

'“'-l "0t
fortt u”fi{:h
et @
cponrgr W™t S

sy AV denfrreY
apst frrgee e

(N
(2) 9
(8]

rlapﬂ
iy
p ¥

L Gaslld ¥ o o
e sz iy raerid eqrfEi ,.;, - )y
".n 11 uffaa @ I gl z;f&am A ey g
i . I Hrel A ﬁ A

aperel A @I

ey & are T | -
et w3 1 vy ey T ferit i
gt &l 94T O
(1) w1 ad x
(2) w1 orEd 3
3y @i e 1 1w
(4) =+ ®aT I o= 11 %

qa @ mert 2

A 1 900

afpsr waa 11 omae &y
afpr w99 11 ¥4 &)

o 1 7 g 1 & e gAew @

w1 Gl

AT L, e
Hpaaeie T

A.

B. dEARET IL.

C. dREHer [II. <=Tel HigeEsg
V. gl dia

D. &feHr
Prer Rrepedt @ @& SO @ 94T B
(1) A-1II, B-I1I, C-1V, D-1

(2) A-II, B-1, C-1V, D-1II

(3) A-l, B-1l, C-11l, D-1V

) A-lL B-IL, C-1V. D-1lI

e A ¥ 1 ¥ g A daid A @ 9ty W
ger W @Y ST ST Sk § IUAR B Y At gUi

&rp B waHa ¥ P
(1) Tpamy-B (2) ugensdr HHHOT
(3) =AY afad (4) gE
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Given below are two stateme
as Assertion A and (he
Reason R,
Assertion Ay Amniocenie
determination IS one of the
Reproductive and Chilg Heal Care Progy.
Reason R: Ban on mnuin.;,‘.ml.\;:"l,‘;":l,m"
increasing menace of female l‘m‘lit‘i’lll\ Sleakn
In the light of the above siye b
L.m-,-,.;q-(.;mswcr from (he OPLONS given below:
(1) Atstrue but R g false, o e
() Ais false but R s gy, 2
(3) Both Aand R are
explanation of A,
() Both A and R are trye ang R is NOT the
Correct explanation of A

|nls: one s labelled
138 nbelled ps

SIS Tor goy
Sratepies of

nents, choose the

true and R is the correct

Given below are two Statements:

Slmtin:iﬂll'; I: I'“ ProKaryotes, the positively

charge Nﬁ_& is held with some negatively

charged proteins in a region called nucleoid.

Statement1ll:_ In eukaryotes, the negatively

charged D‘I\A IS Wrapped around the positively

charged_ histone octamer to form nucleosome.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is correct but Statement IT is
false.

(2) Statement I incorrect but Statement II is
true.

(3) Both Statement I and Statement 1I are
true.

(4) Both Statement I and Statement II are
false.

Match List I with List IL
List I List IT
A. Heroin I. - Effect on
cardiovascular system
II. Slow down body function
I1I. Painkiller

B. Marijuana

C. Cocaine

D. Morphine
dopamine

Choose the correct answer from the options

given below:

(1) A-1v, B-1lI, C-1I, D-I

(2) A-IL BV, C-L, D-II 3

(3) A-IIL, B-I, C-1V, D-IlI

(4) A-l, B-11, C-1II, D-IV

H6_Hindi+English |
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AN A mern Py ¥ ¢ om sfrwes A R g w1

i

st At fidn P ot & Bie twapiory srper od e

v Aepiie wpdmen Y om '{f“” ¥

e Ry et ulledn wgy ger sem T e

&y @) mar B

sy waet % wmist A, A P Praad o "

afir g ar aue wma)

(1) A war ¥ afsr R o ¥

(2) A swe b afwt R ge b

(3) Aud R @ aa ¥ ud R, A 7wkt amve

(4) Avd Ra wa ¥ ud R, A 2 aht a2
(4

9 @ Hua g T ¥

o I nidRaifea ¥ waras arafr oA 37
woeId NIRRT WA % @19 dust um a7 A
Fwa™ Fed &, § @l &

ot 11: gHTaret ¥ Fomers ardfia oy a9
AR R sres & aril ot faest graaErar
AT B

Suda FaAl & wabiel §, A9 e 7 fawedt § § 74
X H FGT & |

(1) +97 194 ¢ @feT w44 11 aFd 2

(2) w97 I 3@ ¢ Afet = 1 93 21

(3) I T I wd 11 9 Bl

(4) <F wu= 1 wd 11 o|d B

T I & g I & |y gafia sl
T 1 @

A, i L & wfesd @5 9 99"
B. #fgem I iR & werl &
B 0 - e
C. @b 1. <dfvars
D. wHiwH V. Sinf & aftaes & s

A4 fag o fawet F A W@ IO @ gg w00
(1) A-1V, B-Ill, €11, D-1
(2) A-llL, B-1V, C-l, D=l
(3) A-ll, B-l, C-1V, D-1I
(4) A-l, B-Il, C-11I, D-1V
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Given below nre twa statements: one Is Inbelted

av Assertion A pd the other s Tnbelled nx

Renson R,

Assertion A;
mplantation of hlastoeyst,
Renson Ry In the absence o tertilization, the
varpus Tutenm  depenceates that  conses

disintegration of endometrinm,
In the light of the above statements, choose the

correct answer fiom the options piven below:

Londomettinm s necessary [or

(1Y A s true but R s false.
(2) A is false but R is true. 3
Both A and R arve true and R is the correct

3
explanation of’ A,

() Both A and R are true but R is NOT the
correct explanation of' A,

Select the correct group/set of Australinn
Marsupials exhibiting adaptive radiation.

(1) Mole, Flying squirrel, Tasmanian tiger cat
(2) Lemur, Anteater, Wolf

(3) Tasmanian wolf, Bobeat, Marsupial mole
(4) Numbat, Spotted cuscus, Flying phalanger

Which of the following statements is correct?
(1) Presence of large amount of nutrients in

water restricts *Algal Bloom’
Algal Bloom dccreases fish mortality

)

(3) Eutrophication refers to increase in
domestic sewage and waste water in lakes.

(4) Biomagnification refers to increase in

concentration of the toxicant at successive

trophic levels.

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria

B. Endoplasmic Reticulum
C. Chloroplasts

D. Golgi complex

E. Peroxisomes
Choose the most appropriate answer from the
options given below:
(1) A and D only
(3) B and D only

(2) A, Dand E only
4) A, C and E only

Which of the following is not a cloning vector?

(1) pBR322 (2) Probe
(3) BAC (4) YAC

H6_Hindi+English |
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A1) Ay mrey faiy A Koo 0 sfrman A § g iny

-::I'::-m AL oA sterd§er & ferer oy iy,
ey ’_ '
‘:.l'l':: ::: [;:rpjaf i .;pw[lufﬂ o frern f.'!-; - %,
mar b faod apen olasiat wi fredner By oy ¢
arfact w4 WAl if, Ay farr e Py Yy
aftry were an wu wal

(1) Auwa? afesr 10 araed ¥

@) A o b afwr R b
3) AudR Ayt wea ¥ ad IRy A @ ey b

() A R e B od 1A A A Ay 1

b
areggen fafeor fraary arey emeferard gy 5

@ /e @ auT HU|
(1) v, we firawdy, aentra 2T A

(2) @, didr, A
@) e afgar, dade, REgEE da
(4) Tz, "HAETT BT, EEREL TR

frer & 4 T @1 BUA TE T
') 1ot ¥ I AN A GGl BT A Ty

@ Tt ¥
3 Qhrag@ﬂwwa%mﬂﬂm%l
3) T aifea e O Sl F A 79§ gy
g% orar &l

(4) S e w1 W D I R T ST
@ gigar ¥ ghe & A B

e 3 & T & R e T ST T AR

¥?

A. TR

B. aicse SiTferet

C. TR

D. el aftasg

E. wl&EE™ ;

fore frpedl @ wa@ SR@ SO @ 999 &
(2) ¥a@ A, Dwd E

(1) da@ ATwd D
3 ¥m@w Bwa D (4) %aa A, CTd E
Py & & B FNRT daeE T ¥ 7

(1) pBR322 (2) v

'(3) BAC (4) YAC
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163 Which of the

164

165

D.

. OF the folay,
regarding femy),

A.

M Statene

- s oy
|““dlluli\-u 5 \re

yele?

re

I ' Correel
n nun-]'.-m\‘lulc

B. First menstryy

9,

Lack of me
pregnancy,
Cyclic me

Nstruatioy, may

be indicative of
Ustruatigy, e

Xle ! \
and me tends between

1mpm|3¢_

tapp i
: - Oprinte
Options given be|gyy- hrLE

(1) A, Band ¢ only
(2) A, Candp o
(3) Aand D only
(4) Aand B only

answer from the

nly' 2

Match List with List 11

N ll;-;lSt I ‘List II

B: G- ‘:::i Beginnipg c_)f systole
Repolarisation of

ventricles

Depolarisation of atria

Depolarisation of

ventricles

Choose the correct answer from the options
given below:

(1) A-I, B-IV, C-I, D-III
(2) A-l, B-II, C-III, D-IV
(3) A, B-I, C1IV, D-II
(4) A-1V, B-IL, C-II, D-I

Match List I with List II.
List I i
(Interacting species)

A. A Leopard and a

Lion in a forest/grassland :
A Cuckoo laying II. Brood
egg in a Crow’s nest 'parasiti.sm
Fungi and root of a higher III. Mutualism
plant in Mycorrtizae
A cattle egret and-

a Cattle in a field : )
Choose the correct answer from the options

L.
II.

C. QRS complex III.
D. T - wave V.

List IT.
(Name of Interaction)
I. Competition

B.

C,

IV. Commensalism

given below: '
(1) AL BV, C-I, DI
(2) A-ll, B, C-L, DIV
(3) AL BAL C-IL D-IV

163

164

165

4) A, B-II, CIV, D-lII
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fereay iy N iy o s foreqn
L

A,

W o mee 1k

N yigive ey vt # o oy A kv

uiradat ay geze wm mey ¥y

U e ey oy yy% dran % fria

tinbingfie mea ¥

Comygun Ay sepifraien it oy qas ¥

. iy g vitvidha & oot am v %
A Ser apy Sexognit 4 iy 1wt Afoen ore g e i
(1) %aa A, 13 04 C

(2) @am A, Ca D

(3) &ua A vd D

(4) &au Aud B

TN @ g 13 ma auEtea )

T 1 T 11
A P-am . wgma = sriy
B. Q- win Il Freat zr angm
C. QRS #ftag M. afedet 2 fagam
D. T-a IV. et =z fasgaw

-t fe R # & W S @ e s

(1) A-ll, B-1V, C-I, D-III
(2) A-l, B-lI, C-Ii, D-IV
(3) A-lii, B-1, C-1V, D-II
(4) A-1V, B-IiI, C-U, D-I
w I o g 1 % 919 gatea &l
T 1 | @ I
(wfa s=I=aRRa) (sraratea @ )
A. UH O™ B R Y L @l
dran ofiv 9%
B. U% Hag TH den & 1l g3 uTEEd
dige A o @ ¥
C. uEarEeh ¥ oas w11l Sesi
T uiEdl &
D. - UF ARV yg-aen w1V, gewirar

Aa ¥ 4 9y _
S o e faaed ¥ @ @ SO H wE HUN
(1) A-lIL B-1V, C-l, D-1l
(2) A-ll, B, C-I, D-1V
(3) A-l, B-lI, C-IlI, D-IV
@) A-l, B-I, C-1V, DIl
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16 LAven below mrme 1o ST
Ntutement 1, 4 Pt i dimagbioed ae o n line,
the len Sl epivsented by (e amine acid

Frepiesented Dy

L mminal) and 1he Vil v

BMIBO ncid (Naerminal)
Adult hmiman hacmoplobin,

its (wae subunits of o 1vpe

laxt
3 Nintemeny n:
COnsisis of o subwy
AN W sibunin of 1 tvpe)
In the hight of the abwwve statements, choose the
vln: nut-l answer fiom the options given below:
t\‘ %lnlt‘uwnt Vi true but Statement 11 is (nlse.
l:) Niatement 1 jy false but Statement M is true.
Al
(;” Raoth statement I and Statement T are troe.
' Both statement 1 and Statement 1 are false.
167

- Given below are 1wo statements:
Statement |- RNA mutates at a faster rate.
Statement 11: Viruses having RNA genome and

shorter life span mutate and evolve faster,

In the light of the above statements, choose the

correct answer from the options given below:

(1)  Statement 1 is true but Statement Il is
3 false.

(..,2) Statement I false but Statement 11 is true.
) Both Statement I and Statement II are

(3
true. : .
(4) Both Statement I and Statement IT are

false.
Radial symmetry is NOT found in adults of

phylum :
4 (1) Coelenterata (2) Echinodermata
(3) Ctenophora (4) Hemichordata

168

169 Given below are statements: one is labelled as
Assertion A and the other is labelled as

Reason R.
Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla,
Reason R: Juxta medullary nephrons have short
loop of Henle whereas, cortical nephrons have

longer loop of Henle,
In the light of the above statements, choose the

correct answer from the options given below:
(1) A is true but R is false,

(2) A is false but R is true.
(3) Both A and R are true and R is the correct

explanation of A.
(4) Both A and R are true but R is NOT the

correct explanation of A.
38
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1) =i (2) U
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168 fa @ % aaEH 7 orl aﬁwm,

169 @ wu A T ¥ OF AT AL gy o,

R &1

mmA:mmWQﬁWarﬁ%
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ud @ifeg wegien JERerg |
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(1) A 9™ & afeT R srad )

(2) A o™ & @fpT R 99 |

(3) Aud RaA 9F ¥ Ud R, A &) 9 @@t

(4) ATd RTE 4 € T R, A &1 el e i
g1 _ '
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.B. TFilariasis Il.

nce the u ndigested and unabgoy bed

. substane

enter the caceum, their backlow - ces
(1) Gastro - oesophageal \ph“::ltlll.\t.l‘llt.ll by-
2) pyloric sphincter
G) Sphincter of Oddi 4
(4) lleo - caecal valve
Match List I with List 11,

List I List 11

A. CCE\ I Kidney
B. ﬂfw Il Heart
C. L. Gastric gland
p. ADH IV: Pancreasg ]

Choose the correct answer
given below:

(1) A-11, B-1IV, C-I, D111
(2) A-1V, B, Clll D1- 3
(3) A-LV, B-IIL, C-II, D1

@) A-llL B, C-IV; DT

from the options

Broad palm with single palm crease is visible in
a person suffering from-
(1) Klinefelter’s syndrome
(2) Thalassemia

(3) Down’s syndrome

(4) Turner’s syndrome

Match List T with List II.

List L List 11
A. Ringworm 1. Haemophilus influenzae
y Trichophyton
C. Malaria 1. Wuchereria bancrofti
D. Pneumenia IV. Plasmodium vivax
Choose the correct answer from the options
given below:
(1) A-II, B-II, C-1, D-1V
(2) A-lL B-l, CIV, D1 3
(3) A-II, B-III, C-1V, D-1
(4) A-II, B-III, C-1, D-IV

Given below are two statements:

Statement I: Ligaments are dense irregular

tissue.

Statement II: Cartilage is dense regular tissue.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is true but Statement II is
false.

(2) Statement I is false but Statcment II is

(3)

true.
Both Statement I and Statement II are
)

true.
Both Statement I and Statement II are

false.
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ot e orraif ward de ¥ §aa w

¥ wy e ufiarw ot vt AT 14}

(1) st ~ it orad

(2) urefe sEdud

(3) ) arata

(4) zfwar — daa @red

@Iﬁ@llﬁsmanﬁfwzﬁm
T 1 T

A, driE . g%

B. ohamsdr . z&d

C.' TS 1. weT 4

D. udug | AVARC: L

:ﬁ%f&qwqﬁmﬂﬁﬂﬁ’miﬁlﬂﬁa?ﬁ!

(1) A-lI, B-1V, C-1, D-III
@) A-1V, B-I, C-1iI, D-1
(3) * A-1V, B-111, C-1I, D-I
(4) A-I, B-I1, C-IV, D-I

ﬁﬁaﬁ'ﬂﬁﬁmﬁﬁﬁ@waﬁﬁﬁsmaaﬁ?ﬁzﬁﬁr
@ S ¥ 7

(1) wgTheet RigH
2) AaEar
(3) =+ fAgM
@) =it figm
@Iaﬁ@n%ﬁmagﬁ%a—m

o 1 T 1O
A. Forad . Eifsaw segger
B. WEaQEad 1. ZEHwEeT
C. wafar . FRRar dwiers
D. Pt V. whEifsay aEded

%mwm@ﬁﬁﬂﬁwmwwﬁl
(1) A-II, B-II, C-I, D-IV
(2) A-ll, B-1L, C-1V, D-1
(3) A-II, B-1II, C-1V, D-I
(4) * A-II, B-III, C-I, D-IV

I @ wow R M@ ¥

o 1: g g il Sas ¥

Fo 11: Suritey wo Prafa Sas §1

sydaa wel % vy # e fw g e & @
T W aad BU|

(1) a1 g ¥ AT su 11 o )

() w1 oma ¥ wieT w11 8 ¥

C(3) i w1 ud I |/ E)

(4) N w1 d 1 e %1

[ Contd...



175

176

177

Match List 1 with List 11,
List I

Gene
Gene “y*°
C. Gene 'i*

D. Gene ‘2’
Choose the correct answer from the options

List 11
[3-galactosidase
II.  Transacetylase
1l. Permease

IV. Repressor protein

A. ‘a’ 1.

B,

given below:
(1) A-lL, B-1V, C-1, D-11

(2) A-l, B-l, C-1V, D-I 4

(3)  A-ll, B-1. C-1V, D-11I

(4)  A-ll, B-lIl, C-1V, D-I

Given below are two statements:

Statement I: Electrostatic precipitator is most
widely used in thermal power plant.
Statement II: Electrostatic precipitator in
thermal power plant removes ionising radiations
In the light of the above statements, choose the
most appropriate answer from the options given

below:
(1) Statement I is correct but Statement II is

incorrect.

(2) Statement I incorrect but Statement II is
correct.

(3) Both Statement I and Statement II are
correct, :

(4) Both Statement I and Statement II are

incorrect.

Match List I with List IT with respect to human

eye.
List I List II

A. Fovea 1.  Visible coloured portion
of eye that regulates
diameter of pupil.

B. Iris II. External layer of eye
formed of dense
cconnective tissue.

C. Blind spot III. Point of greatest visual
acuity or resolution.

D. Sclera IV. Point where optic nerve
leaves the eyeball and

photoreceptor cells
are absent.
Choose the correct answer from the options
given below:
(1) A-L, B-IV, C-I11, D-I1
2) AN, B, -1, D1V 3
() AJIL B, CIV, Doy
) Ay, B Co, Do

Hﬁ_HindH—English 14
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Tﬂ'l?ﬁ#mﬁllﬁmﬂﬂﬁﬁ'fﬂaﬂh

el T 1
A, W T L B-Teedmrdy
B. ofer ard’ 1. giagdedas
C. s ‘ard’ 1. gofes
D. = <s’ IV. &aFa&rd 9

(1) A-lI, B-1V, C-I, D-lI
(2) A-lll, B-I, C-1V, D-II
(3) A-Il, B-l1, C-1V, D-1II
4) A-Il, B-111, C-1V, D-I

N & e fRg o ¥

Fu 1: dega eraafs a9 g 995 A = wy g
IqGRT A @ S ¥

Fo I1: @19 frga a5 A Aga @l snadfiamg
fafepror &t e ¥

Sudad et & watel A R R g Rt F @ ag
I BT T B

(1) w97 I g & afeeT s 1 18 1

(2) w1 ora ¥ AfeT %0 11 6 &)

(3) & @wuw I ud I §A &1
(4) <Y waw I od IT o B

qrg A5 & gey F g I ar gl I &6 |y gafes

H
w1 T

A. wifEr I. 9 @1 @+ 9rg i

s i gfyw & e @

frife wtar ®

A B R UG W g

TSl Seth @ "=

B &1 ,

SIfreha g9a derar ar

fadeT =1 faeg

forg wiel & g& — dbe

IS B B ¥

afiT @l weter wadr

' I argafierd €k €l

M g g Rl § & @@ oo & wFd F

(1) A-I, B-1V, C-II, D-1I

(2) A-ll, B-I, C-lllI, D-1V

(3) A-II, B-I, C-1V, D-II

(4) A-1V, B-11I, C-II, D-1

B. emsfe

aryfdig
D. @
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179

180

181

replication and pmduéc

(1) Basophils
(3) T” cells 3

o S
: the HIV undergoes
8§ progeny viruses?

] - 0 ‘

() Eosinophils

() B-lymphoeytes

Which of the f .
- Ih‘. tQ"a\\-‘lng funcli“l . 2
by cytoskeleton in a cell? 18 18 carried oul

(1) Motility

(2) Transportation
3)
)

Nuclear division 1
Protein synthesis

Given below are two statements:
Statement I: Lo ‘
: Low

e B temperature preserves the
hinfl - mporarily inactive state whereas
: gh temperature destroys enzymatic activity

ecause proteins are denatured by heat
Stateg‘;ent 1I: When the inhibitor closely
resembles .the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor. ’
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement II is
false.
Statement I is false but Statement II is
true.
Both Statement I and Statemen
true.
Both Statement I
false.

t II are

and Statement II are

Match List I with List IL

List I List II
A. Vasectomy [. Oral method
B. Coitus ‘ JI. Barrier method
interruptus
C. Cervical caps [, Surgical method
D. Saheli [v. Natural method
Choose the correct answer from the options

given below:
(1 AL B-II1, c-1, DIV

2) AV B-1I, C-, D-11I
(3) AL B-1, C-IV, D-II
4) A-IL B-1v, C-1I, D-I

Jindi+English ]
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(78 A g wforarel ¥ g ufugfin wean

179

180

181

ah xRy Preoy et acar B 7
(1) At W (2) gonfunfe o
3) Ty faRmel ¥ (4) By
()
PRty .E[ ot 1 o B A T A

R v ?

(il
(M nﬁ‘(ﬂ()
(2) wREe
(3) e fTer
“ ‘;ﬁ'ff%j]éaﬁw

I.J]

)
Tﬂ’afﬁiyﬂﬁfﬁﬁﬂﬁ%:
*WI-%WWﬁMW@EW
mmﬁ:grféﬁr@m%maﬁsaaww
ﬁmsﬂﬁmﬁwm&m%lmﬁ%m%%
forgpar & W € :
Eﬁﬁﬂ]l:@gﬂwﬂaﬂﬁﬂiﬁdﬁﬂﬁw
ﬁmr#ajmwm%aﬂiq‘arsﬂﬁrm:eﬁamﬁ
ﬁﬂﬁﬁ'a{@%ﬁrs@uﬁNWﬁaﬂm&%l
aqéaﬁa‘sufﬁ&smﬂif%&qua?m’fﬁaﬁ
e all

II oad &l

(1) zsq“%jw%ﬁmm
2) s e & Al
€)) aﬁfamlqemw%l

: 0 :
[ wd 11 o &
@ FFELE |

‘L.k) .
q;?r]air-qgﬁﬂasmﬂgﬁﬁﬂﬁmﬂ|
T 11

I o ¥l

gl
A ghmavde L wA areh faft
B. Eﬂ'tﬂ'(‘igﬂﬁq n, e faf
c. e den ad I, gretsndl fafyr
p. @ v, gt fafy
ﬂ%ﬁqjﬁﬁmﬁawmwwm
(1) A-.IQBJH, C-l, DIV
() AdV;BIL CL DIl
(3) Al B-L CIV, D-Il
@ Al BV CIL DI
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182 March List 1 with List 11,

List 1 List 1
(Cells) (Seeretion)
Mucus

A, Peptic cells 1.
B. Goblet cells 11,
C. Oxyntic cells 11,
1 D. Hepatic cells IV,

Bile juice

HCTand intrinsic faeto
for absorption of
vitamin By,

Choose the correet answer from (he np[§n|;5

given below:

(1) A-lI, B, C-IV, D-II
(2) A, BV, C-I, D-llI
(3) A-lV, B-lII, C-II, D-1
(4) A-lL, B-I, C-lI, D-IV .

183 thch one of the following symbols represents
mating between relatives in human pedigree

analysis?

4
(1) I %) ...

O [0 o[=0

184 Vital capacity of lung is 7
(1) IRV+ERV+TV-RV
(2) IRV+ERV+TV
(3) IRV +ERV
(4) IRV +ERV + TV +RV

185 Match List I with List II.
List I List IT

(Type of Joint) (Found between)

A. Cartilaginous 1. Between flat
Joint skull bones

B. Ball and Between adjacent

Socket Joint vertebrae in
vertebral column

Between carpal
and metacarpal of
thumb
Between
Humerus and
Pectoral girdle
Choose the correct answer from the options
given below:

(1) AL BV, C-I11, D1

@) AdL, BV, 111, D.J

{3} A-Il[, B-]’ CI DIV

4 AL BIY, ¢, D

IL.

C. Fibrous Joint_ 111,

D. Saddle Joint  IV.

Hﬁ_Hin[li+E_ng]ish |

;

Proenzyme pepsi nogen

r

42

182 1) g 10 am gl i
i |

183

184

185

T
(mrfurr) (errm)
A, fem afmnd 1. g
B way bt L e
¢, anfrofrea 11, W e
wifbren Attt
D, frifem 1V, madind
i fererfirt By, %
i % figr
i wTE
A R 1 Rt # @ 7 TACH T 77

(1) AL, B, C-IV, D-lI
@) A-ll, B-1V, C-I, D-1lI
(3) AV, B-lII, C-II, DI
(4) A-l, B, C-III, DIV

P e e Pasae & BH W1 WG frsgeny
¥ 4 A @ Pref @ ¢

(1) I o8 KX,

o [—0 @0

%52 @ 9 & - _ )
(1) aréardt + o + At - et

) ardoed + darcdl + &

(3) o + et
(@) adam + foredt + Zeft + o
i I3 gt 11 & wrg o w41
@ I
(s 71 W) (% W7 YT A 2)
A oufg-gm L 9wl G s
wfy Ca
B. dga g L Foeass | a
wfy frpead] BareHIal
A
C. i iy 1. 3s & e o
. , e & 7
D, e i IV. e G o
- Ew & 1
R fro o i 8 A 98 S @ 99w

(1) A, B-IV, C-III, D-II
(2) Al B-IV, C-III, D-I
(3) AL, B-L, CI, D-IV

(&) AL BV, C-L, DI

[ Contd...
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No. 186 1o 200) |

Select the coppe
chordates,
L] -
A.  Presence ory Mmic
i d-dors coli .
nerve cor. rsal, solid and double
B. Prosence of ¢lose

clstatements wily relerence (o

d circulatory system.

C. Presence of paired

’ - parred phanvnpe illsli
D. P‘ﬁ‘l'ht.‘l'lt‘t‘ of dorsal IIlcm{ geal gillslits.
E. Triploblastic

pseudocoelo il :
Choose the corron e i ltfm:uc .mlumlf,
aiven below: : rom the options

(1) B.Dand E onpv
(2) C, D and E oylv
3) A.Cand D only
(4) Band C only °

4

hi ol a .
Which of the fo!lomng statements are correct?

A. An tl:XCC:RSI\'C loss of body fluid from the
body SWitches off Osmoreceptors.

B. ADH fac_llttates water reabsorption to
prevent diuresis.

C. ANF causes vasodilation,

g_ :‘:gg il:au:‘.es Increase in blood pressure.

. S responsible for decrease i .
Choose the correct answer from atshee":)p(t;iflgs
given below:

(1) A, B and E only
(2) C.D and E only
(3) A and B only
(4) B, Cand D only

4

In cockroach, excretion is
A. Phallic gland B. Urecose gland
C. Nephrocytes D. Fat bodyu

E. Collaterial glands
Choose the correct answer from the options
given below:

(1) B, C and D only
(2) B and D only
(3) A and E only
(4) A, B'and E only

brought about by-

Given below are two statements:
Statement I: During G, phase of cell cycle, the
cell is metabolically inactive.
Statement II: The centrosome undergoes
duplication during S phase of interphase.
In the light of the above statements, choose the
most appropriate answer from the options given
" below:
(1) Statement I is correct but Statement II is
incorrect.
(2) Statement I is incorrect but
is correct.
3)
“)

Statement I1

Both Statement I and Statement II are
correct.

Both Statement I and Statement Il are
incorrect.

2

43

186

187

188

189

HEA & e o wfy wuAl w1 g w0

A, g,z o el At T #1
B. 1 afvrieen dw A o _

C. w0 gftga wm freni Y qrfenfa
D. Yy gra A gy

1 fumvm, gz v urh _
ANA (o fowet A0 ofer e w TET et
(1) waa B, DA L

(2) dam C, Dud i

(3) wam A, Cud D

(4) %am Bua C

yeffonfa

Prefufra 8 @ @ @ waa wh b7

A, e @ arenfus awhfts za #1 w5 T
mfku’fm’rzizm'a?nﬁl _ _

B. qﬁ@r[zﬁmmmesfanw#w
g gAra ¥

C. uuus arfea fawm wrar ¥

D. qﬁ@mmffaﬁmﬁmtu )

E. udig dowart 4 w0 % g T zi

;ﬁaﬁqmmﬂ’ffiﬁsﬁawmmﬁﬁv
(1) ¥ A, BT E
(2) ®aw C, DT E

(3) %a@ Awd B

(4) %@ B,Cwd D

Rreraed & St & Zra F B
A, o Tt B. T‘ﬁﬂf‘_‘jﬁ‘
C. TwraEed D. =@ U=

E. saus diai

I g o freed # @ SRE S @ w99 34
(1) %as B,Cwd D

(2) Haw Bwd D

(3) %aw Aug E

(4) Has A, BTIE

99 & wuT R e ¥

T I: BRI 9 B Gy FIRAT F SIS IITILT
w7 § fifeg e &

T IT: A6 oferawn #t S wraen § e s
Tl

Soda Bl & waen ¥, A R Ty sl ¥ | w@
FAC @ 9 B

(1) Fy 1 §d@ ¢ dfeT T 11 swa &

(2) Fw 1 owd & dfda s 11 v ®)

(3) <A www 1 wd 1 5 &)

(4) < wwa 1 ud 11 3mad ¥
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90 Nareh List 1 oawith Lise 11
st 1 Lise 11 140
AL opsnie 1. LUtinlie
wrvwth oty “””'”.l"ll POss e
& i A i 1]
LA \pm'wminl 1. | mm.-.; ::-\-.....,,l‘".'-ml »
_Browth avablability conditi
i) \jwlrllfllull i, 1he I‘!'l'-‘l'l.lr‘rll-‘!‘nrilll::::l«.
3 apce pyramd ol l"_\‘"l't']'l\‘llllrl!\'l‘
ape.is lnrpest followed
by reprodoctive and
prost reproductive
. . RO R2roups
. i\!f!j*h._ugc IV, The percent individuals
pyramad of pre-reproductives
and reproductive npe
. group are same
(_hnnsc the correct answer from the options
given below: (D)
(1) A-Il, B-IV. C-1, D-111,
(2) A-Il. B-1V. C-11, D-1
(3) A-Il. B-1. C-111, D-1v
(4) A-IL B-lll. C-1. D-1v.o
191 Which of the following statements are correct 7
A. Basophils are most abundant cells of the
total WBCs 1D 191
1 B. Basophils secrete hi_s}egminc. serotonin and
heparin P
C. Basophils are invoived in inflammatory
responsc e
D. Basophils have kidney shaped nucleus
E. Basophils are agranulocytes )
Choose the correct answer from the options
given below: o
&) B and C only (2 Aandp only
3 4 C and E only
(3) D and E only ¢ ?‘3‘“}
brain that helps in regulation
92 The parts of human ‘i dcion of excitement,
of sexual behaviour, expressior 192
pleasure, rage. fear eie i
(1) Brain stem & gpithalamus 3
d thalamus
(2) Corpus callosum and thala
() Limbic system & hypothalamus
(4) Corpora quadr:ge'"..fﬂ%& hippocamp
T an advanlage
193

193 Which one of the following is NO
r lessdesirable £
fSU]"_EﬁPr gcncs ta

of inbreeding?

(1) Elimination ©
accumulation O
due 1o it.

r
{

2 (2) W decreases the pro
population, after coftinuous

enes and
kes place

Sductivity of inbred
; inbreeding.

that are

rerer iy oty

i 1 omy o 11
R

i
A I E e L] I wrkrftey Fheeripe
Ay zrpermmrr Ay
wearegy
1. ety gt (1. dafuer e Ay
LrfaR e 41 A eqrey
o agdl ey (1. g g s,
farfee PNL AL AR .
DL L NAG '
furers A7 Wty
g AAATPOE AL oy
art B s
. ftgr sy [\, A A Ay
Ay AN & e

#1 ufaurerar war.
-f

7T 21
THT FT FHA E)

feifers

iy fan wry famedl @ A A
B-1v, C-1, D-111

(1) A-IL
(2) A-lI, B-1V, c-111, D-I

(3) A-I1, B-1, C-I11, n-1v

(4) A-l1, B-1II, C-1, D-1V

Prer & @ @ 9 HAT ai E7

A. aiEd gl
Zl
an’rﬁﬁﬁf‘?wﬁfffiﬂrﬂﬁ’f we fafeT =1 ==

gﬁiﬁfmaﬁﬁﬁmﬁazﬁriu

B.
FHedl £
C. e girawrl 7 ;
D Wﬁw%mwmm%r
:ﬁ%f&qwﬁ?ﬁ?ﬁﬁﬁﬂﬁ~waﬂ@ﬂj
(1) ¥am BTd C (2 Faa ATd B
(4)%5??-76‘@}5

n

(2) rda e

3) prfres d Ofit ETEAEEHT

(4) wredra 7 are '“_ﬂrﬁ'a“‘%'
aﬁaﬁqam:ﬂwwé’m,‘ ! .

ﬁ?wﬂvwaﬂmﬁﬁm‘”m‘“m
azzﬁnnawﬁ:ﬁanwwm%rwﬁzaﬁ

(2) e ST % a1E A€ AT
WWW%I &)
o g &

gj;'wﬁfﬂddm'mﬁaﬁmw%
e BT fopry ol #

{Contd---

(

E’Q}) i‘:. decreases homozygdsity.
E‘Fx?tlseﬁ harmful recgssive genes
Chminated by sclcc[ﬁj’n_

LhD
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194 The unique

196

197

Manmalion characteristics are:

hairs, pi indj

: Pima and indireey development
PINNA, Monocon

plands

()

"!) .
( dylic skull and mammary

(3 hairs, tympanic memly

) ane
glands ne and mammary
(&) hairs, pinna and mammary plands

Match List 1 with Ligt 11
List 1

- List 1
A. ast ccllf L Ciliated ¢pithelivm
B. Inner surface 1. Arcolar

of bronchiole connective tissue
. B‘lood 1. Cuboidal epithelium
D. Tubular parts V.

specialised
connective tissue
answer from the options give

of nephron

Choose the correct
below:

(1) A-L, B-1, C-1V, D-III
(2) AL B-1V, C-I1, D-1
(3) -A-l, B-IL. C-1V. D-III
(4) A-II, B-1L, C-1, D-IV

Select the correct statements.

A. Tetrad formation is seen during Leptotene.

B. During Anaphase, the centromeres split and
chromatids separate.

C. Terminalization takes place during
Pachytene.

D. Nucleolus, Golgi complex and ER are
reformed during Telophase.

E. Crossing over takes place between sister

chromatids of homologous chromosome.

Choose the correct answer from the options
given below:

(1) A, C and E only
(2) -B and E only
(3) A and C only
(4) B and D only

Which of the following is characteristic feature
of cockroach regarding sexual dimorphism ?

(1) Presence of sclerites
(2) Presence of anal cerci
(3) Dark brown body colour and anal cerci
(4) Presence of anal styles

4
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A th fufsmrzard vwers raennfual & ¥ 7
(1) T, wkgsea . sgarn afvta
(2) wehvean aEtsmrsd Hara 04 A rfrat
(3)  Om, weh (uge Pkt A e et
(Ay O, motaes(n e i
w1 w8 v ifee mT
w7 h 11
A, i s [, i TR
B, vaafam ), 11, ofravrs v
sirafrm Gan T
C. T () ] PR 12 A et 2l
D. gawwst-w Iv. fafare gyl 295
At T ‘
3 fro o fhemedt & A WA e & AT A
(1) A-Il, B C-1V, D-III
(2) A-, B-IV. C-II, D-I
(3) A-lL B-[_l;_._zg-lV. D-Il
(4) AL, BdIi; C-1, DIV
af wo @ EE w1
A. wge Pmi agege ¥ fEd T R
B, uyareerd Torgaag fadfem @@ ¥ AR
ST G B €
C. wmUze § SuidHEd wa gl
D. i, Mool Td IHR eEen 5 g 91
. \_S‘l'l% 21 Eu..ﬂ
E. wRiT olaD aaa UEsl 31 957 NEerEs
¥ 9= Tangl
A R T Rl ¥ ¥ wES SRE S a9 Sl
(1) ¥aw A, O E
() %a@ B WE
(3) ¥ Awd C
(4) ¥aw B &&'D
n
Prer § @ @ R e 2 e Rrswan w1 R
w7
(1) wow B Tehe
@ T 3 seRaf
(3) TEW S R W T EE qH
(4) T g i Suftafa
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it mIRNA BT ot v frar oy
JCGAUCGAUCG A
€
L i T &y ap g

108 afn =9
& ALICGAUCGALT

s nee on
1t, o frreer

Which one of the fisllow ing s the

108
\tnp".\'“\”.h”’_! l‘l,lh“’_. strand 3
MRNA firmaod is ot I.‘”‘“:_.‘. ohe SCQUenCe on
5" AUVUCGAUCGALICG . ATIC
AVFO 7w PALTCGALICGALICG ALICG dyriy
(1) S ATCGATCGATCGATCGATCG (1) 8 ATCOATCOATCOATCGATCG
= :\-u_(.-.«\l'('(.- 3 ATCOATCG 3

(=) 3" ATCGATCGATCGATCGATCG (2) 3° ATCQATCGATCAATCUATCG
3 -:\‘lltrh'““-‘.” - ATCGATCG 5!
N e GEUNGERNDICHA 3 (3) 5° UAGCUAGCUAGCUAGCUA
G B et i i T GCUAGC UAGC 3°
3T UAGCUAGCUAGCUAGO , g " i
GCUAGCUAGC 5° - (1) 3' UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’
fge wTATT & Froaor g oy -

199  Pr=r O @ @rdr 4rgds
orer v e eraazd WIS w = T

Which of the following are NOT under the

199
control of tharoid hormone?
A. Maintenance of water
& >r and elec o]
iy 1 electrolyte AL
B. Regulation of basal metabolic rate B. ¥ 2 post a:,qm :
C. Normal rhythm of sleep-wake cycle C. WA-wT & wm B A
D. Development of immune system D. wfaean = w1 fawEl
E. Support the process of R.B.Cs formation E. omc.ad). fmafor @ 9fear @ g ey
i LAHLAL » I
Hrr R g freedt & A WE I B TAT H

Choose the correct answer from the options
(1) Faa C gd D
(2) %aaw Dad E
(3) FHaa ATd D
(4) ¥aw Bud C
200 h@Te G % frum H @ W AT EH ¥?
A.  Qoft d=er Brae GaIS Sds B G T I3y
2 & 8 duze ®Ed ¥
Fof g BT QIBICTIHE TG Hieaa A
HT ST JE &)
C. dhebrar Aol @ ardEr @ i o AaEn
AR % Rracer aRwed & HIOT TR T I
% R g wed ¥l
e frw o Rraed A @ wad S I BT B
(1) Faa A, Cud D
(2) &aw Cwd D
(3) &awr A, Bud C
(4) Faa Bud C - . -
' [ Contd...

given below:

(1) C and D only
(2) D and E only
(3) A and D only
(4) B and C only

Which of the following statements are correct

2000
regarding skeletal muscle?
Muscle bundles are held together by

A
collagenous connective tissue layer called
B.

fascicle.
B. Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.
C. Striated appearance of skeletal muscle fibre
is due to distribution pattern of actin and

myosin proteins.
M line is considered as functional unit of

D.
contraction called sarcomere.
Choose the most appropriate answer from the
options given below:
(1) A, C and D only
(2) C and D only
(3) A, B and C only
(4) B and C only
: 46
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